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16-1. BEBNEFHZE(IRE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R 2SE 5% STD ERROR
0 -1 1,075 195 21 0 81.7 £ 2.4 (84.1 - 79.3
1 -2 859 103 18 0 71.8 + 2.8 ( 74.6 - 69.0
2 -3 738 75 13 0 64.4 £ 3.0 (67.4 - 61.5
3 -4 650 49 23 0 69.5 * 3.1 (62.5 - 56.4
4 - 5 578 20 56 0 §7.3 £ 3.1 (60.4 - 54,2
5 - 502 502
TOTAL 1,075 442 131 502
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 992 172 14 0 82.5 + 2.4 (850 - 80.1
1 -2 806 102 12 0 72.0 £ 2.9 ( 74.9 - 69.1
2 -3 692 70 18 0 64.6 £ 3.1 (67.7 - 61.6
3 -4 604 40 19 0 60.3 £ 3.2 (63.4 - 57.1
4 -5 545 33 50 0 66.5 + 3.2 (59.7 - §53.2
5 - 462 462
TOTAL 992 417 113 462
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 1,305 197 15 0 84.8 + 2.0 (86.8 - 82.8
1 -2 1,093 165 11 0 71.9 £ 2.5 ( 74.5 - 69.4
2 -3 917 110 13 0 63.3 £ 2.7 (659 - 60.6
3 -4 794 78 18 0 67.0 + 2.8 (59.7 - 54.2
4 -5 698 56 46 0 52,2 £ 2.8 (551 - 48.14
5 - 5396 596
TOTAL 1, 305 606 103 596
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R 2SE 5% STD ERROR
0 -1 871 131 15 0 84.8 + 2.4 (87.3 - 82.4
1 -2 725 115 16 0 7.2 £ 3.1 (74.3 - 68.1
2 -3 594 63 12 0 63.6 + 3.3 (66.9 - 60.3
3 -4 519 33 17 0 69.5 + 3.4 (62,9 - 56.1
4 -5 469 24 37 0 66.3 £+ 3.4 (59.8 - 52.9
5 - 408 408
TOTAL 871 366 97 408
16_ 1 SURVIVAL RATE M- Y5 in=1075 6 — o
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16-2. BEBNEBE(ECDBDEMIER)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 18 9 0 0 50.0 + 23.6 ( 73.6 - 26.4
1 -2 ] 1 1 0 44.1 t 23.6 ( 67.7 - 20.6
2 -3 7 1 0 0 37.8 £ 23.3 (C(61.1 - 14.5
3 -4 6 0 1 0 37.8 £ 23.3 (61.1 - 14,5
4 - 5 5 0 0 0 37.8 £ 23.3 (61,1 - 14.5
5 - 5 5
TOTAL 18 11 2 5
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 6 2 0 0 66.7 = 38.5 (105.2 - 28.2
1 -2 4 1 0 0 50.0 = 40.8 (90.8 - 9.2
2 -3 3 0 0 0 60.0 * 40.8 (90.8 - 9.2
3 -4 3 0 0 0 50.0 + 40.8 (90.8 - 9.2
4 -6 3 0 2 0 §0.0 + 40.8 (90.8 - 9.2
5 - 1 1
TOTAL 6 3 2 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, R+ 2SE 5% STD ERROR
0 -1 12 0 1 0 100.0 £ 0.0 (100.0 -100.0
1 -2 11 1 0 0 80.9 = 17.3 (108.2 - 73.6
2 -3 10 0 0 0 90.9 + 17.3 (108.2 - 73.6
3 -4 10 2 0 0 72.7 £ 26.9 (99.6 - 45.9
4 -5 8 0 1 0 72.7 + 26.9 (99.6 - 45.9
5 = 7 7
TOTAL 12 3 2 7
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 25 3 0 0 88.0 =+ 13.0 (101.0 - 75.0
1 -2 22 8 1 0 6§5.3 + 20.1 ¢ 75.3 - 35.2
2 -3 13 1 0 0 51.0 £ 20.3 (¢ 71.3 - 30.7
3 -4 12 0 0 0 $1.0 £ 20.3 (C 71.3 - 30.7
4 -5 12 0 o] 0 51.0 + 20.3 ( 71.3 - 30.7
5 - 12 12
TOTAL 25 12 1 12
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17-1. REBENFRDHRNEGFEANHFR.EB.BARE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0-1 568 29 8 0 94.9 £ 1.9 ( 96.7 - 93.0
1 -2 531 25 6 0 90.4 + 2.5 (92.9 - 87.9
S Luads 1T s 2 -3 500 a3 10 0 84.3 £ 3.1 (87.4 - 8l.3
ok e U) BR 3-4 457 21 16 0 80.4 + 3.4 ( 83.8 - 77.0
4-5 420 14 44 0 77.6 £ 3.6 C8l.2 - 74.0

5 - 362 362

TOTAL 568 122 84 362

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0-1 142 17 3 0 87.9 + 5.5 (93.4 - 82.4
1 -2 122 11 5 0 79.8 + 6.8 (86.6 - 73.0
TN AN N 2 -3 106 12 2 0 70.7 £ 7.8 ( 78.56 - 62.9
ﬂl;‘j“”{@UJIJ’f‘ 3 -4 92 7 4 0 65.2 £+ 8.2 (73.4 - 57.0
4 -5 81 2 7 0 63.5 £+ 8.4 (71.8 - 55.1

5 - 72 72

TOTAL 142 49 21 72

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

0 -1 62 10 2 0 83.6 £ 9.5 (93.1 - T4.1
1 -2 50 15 0 0 58.5 £ 12.7 ( 71.2 - 45.8
S T 2-3 35 10 0 0 41.8 + 12.7 ( 54.5 - 28,1
FHRFSRIE IR 5 - 4 25 5 1 0 33.3 + 12.2 ( 46.5 - 21.1
4-5 19 0 1 0 33.83 + 12.2 < 45.5 - 21. 1

5 - 18 18

TOTAL 62 40 4 18

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 228 110 & 0 51.1 £+ 6.7 (5T.8 — 44.4
1 -2 112 47 6 0 201 £ 6.2 (352 - 22.9
cenapsenps 2 - 3 59 16 1 0 21.1 + 5.6 (26.7 - 15.5
AP RTeE 13 7) 1% S 42 16 0 0 131+ 4.7 (17.8 - 8.4
4-5 26 4 2 0 11,0 4.4 (154 - 6.6

5 - 20 20

TOTAL 228 193 15 20

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 27 24 0 0 11.1 % 12,1 (€23.2 - -1.0
1 -2 3 2 0 0 3.7+ 7.3 C11.0 - -3.6
;tt’”;? 2 -3 1 1 0 0 0.0 0.0 ¢ 0.0- 0.0
A3 3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 o 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 27 27 0 0

PRV RRVE e v [VRVEVRVEY) (SRR VRV

Vv



17-2. RIRMFRDEINEFE(NBFHO. 5. & RE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 535 23 7 0 95.7 + 1.8 ( 97.4 - 93.9
1 -2 505 41 4 0 87.9 + 2.8 (90.7 - 85.0
6 ol iEdnr L)) 5 2 -3 460 32 ] 0 81.7 + 3.4 (851 - 78.3
AR Y) R 3 -4 419 19 15 0 77.9 £+ 3.6 ( 81.6 - 74.3
4 -5 385 18 34 0 74.1 + 3.9 ( 78.0 - 70.2
5 - 333 333
TOTAL 535 133 69 333
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 139 12 1 0 91.3 + 4.8 ( 96.1 - 86.6
i 1 -2 126 10 3 0 84.0 + 6.3 (90.3 - 77.7
HIxE O bR 2 -3 113 9 3 0 77.2 £ 7.2 (84.4 - 70.0
* 3 -4 101 7 2 0 71.8 + 7.8 ( 79.6 - 64.0
4 -5 92 3 9 0 69.4 + 8.0 ( 77.4 - 61.3
5 - 80 80
TOTAL 139 41 18 80
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 80 16 1 0 79.9 + 9.0 (¢ 88.8 - 70.9
1 -2 63 12 1 0 64.5 + 10.8 ( 75.3 - 53.8
M IERRmYIEy 2 -3 50 11 1 o 50.2 £ 11.3 ( 61.5 - 38.9
‘' 3-4 38 6 1 ] 42,2 + 11.3 ( 53.4 - 30.9
4-5 31 6 3 0 33.6 + 10.9 ( 44.5 - 22.7
5 - 22 22
TOTAL 80 51 7 22
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 197 105 3 0 46.3 + 7.1 (53.4 - 39.2
s 1 -2 89 35 4 0 27.7 £ 6.5 ( 34.1 - 21.2
ot TRy 2 - 8 50 17 1 0 18.2 = 5.7 ( 23.8 - 12.5
GRS BRI 3 -4 32 7 0 0 14.2 £ 5.2 ¢19.3 -~ 9.0
4-5 25 6 2 0 10.6 + 4.6 (¢ 15.3 - 6.0
5 - 17 17
TOTAL 187 170 10 17
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 15 13 1 0 10.3 + 16,0 (¢ 26.3 - -5.7
1 -2 1 1 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
I 2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
FFEVIER 3-a 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
5 - 0 0
TOTAL 15 14 1 0
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173. RIEMFERDRANEFTE(ARFHG.EB. B J8E)
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 778 52 7 0 93.3 + 1.8 (95,1 ~ 91.5
1 -2 719 66 8 o] 84,7 £ 2.6 (87,3 - 82.1
2 -3 645 53 9 0 77.7 + 3.0 (80.7 - 74.7
3 -4 583 52 12 0 70.7 + 3.3 (74.0 - 67.4
4 - 5 519 33 36 0 66.0 * 3.5 (69.5 - 62.5
5 - 450 450

TOTAL 778 256 72 450

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
g0 -1 167 8 2 0 95.2 £+ 3.3 (985 - 91.9
1 -2 157 22 2 0 81.8 + 6.0 (87.8 - 75.7
2 -3 133 18 0 [} 70.1 £ 7.2 (C77.2 - 62,8
3 -4 114 8 5 0 65.1 =+ 7.5 (72.5 - 57.6
4 -5 101 12 6 0 57.1 £+ 7.9 (64.9 - 49.2
5 -~ 83 83

TOTAL 167 69 15 83

YEAR OF ALIVE AT

DIED

IN LOST TO WITHDRAWN

CUMULATIVE

GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 72 10 0 0 86.1 £+ 8.2 (984.3 - 78.0
1 -2 62 12 0 o] 69.4 + 10.9 ( 80.3 - 58.6
2 -3 50 8 0 0 58.3 + 11.6 (¢ 70.0 - 46.7
3 -4 42 8 1 0 47.1 + 11.8 (58,9 - 385.3
4 -5 33 7 1 0 36.9 + 11.5 ( 48.4 - 25.§
5 - 25 25

TOTAL 72 45 2 25

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 205 88 4 0 56.7 £ 7.0 ( 63.6 - 49.7
1 -2 113 50 0 0 31.6 £ 6.6 (38.1 - 25.0
2 -3 63 27 1 0 17.9 £ 5.4 (23.4 - 12.5
3 -4 35 8 0 0 13.8 £+ 4.9 (18.7 - 8.9
4 - 5 27 4 1 0 11.8 + 4.6 (16.3 - 7.2
5 - 22 22

TOTAL 208 177 6 22

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 45 31 1 0 30.3 £ 13.8 (44.1 - 16.6
1 -2 13 10 o] 0 7.0 £ 7.8 (14.8 - -0.8
2 -3 3 2 0 0 2,3 £+ 4.6 ( 6.9 - -2.3
3 -4 1 1 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
5 - 0 0

TOTAL 45 44 1 0
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17-44. RIRMFERHRANEHFE (AHFEHF, BB, L. BRE)
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 542 24 8 0 95.5 £ 1.8 (97.3 - 93.8
1 -2 510 47 11 0 86.6 + 3.0 (89.6 - 83.7
2 -3 452 46 7 0 77.8 £+ 3.6 (81.4 - 74.1
3 -4 399 23 14 0 73.2 £ 3.9 (C77.1 - 69.3
4 -5 362 16 27 ] 69.8 + 4.1 (73.9 - 65.8
5 - 319 319

TOTAL 542 156 67 319

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R: 2SE 5% STD ERROR
0-1 103 10 3 0 90.1 + 6.9 (96.1 - 84.2
1 -2 90 11 1 0 79.1 + 8.1 (87.2 - 70.89
2 -3 78 9 2 0 69.8 + 9.2 (79.0 - 60.6
3 -4 67 6 1 0 63.5 + 9.7 (73.2 - 53.8
4 - 5 60 4 6 0 5§9.1 £ 10.0 ( 69.1 ~ 49.1
5 - 50 50

TOTAL 103 40 13 50

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 47 11 0 0 76.6 + 12.4 (88.9 - 64.2
1 -2 36 14 1 0 46.4 + 14.6 (61.0 - 31.8
2 -3 21 3 1 0 39.6 + 14.4 ( 54.0 - 25.2
3 -4 17 2 1 0 34.8 + 14.2 ( 49.0 - 20.6
4 -5 14 0 1 ] 34.8 + 14.2 ( 48.0 - 20.6
5 - 13 13

TOTAL 47 30 4 13

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 121 55 4 0 53.8 + 9.1 ( 62.9 - 44.6
1 -2 62 37 1 0 21.4 £ 7.6 (29.1 - 13.8
2 -3 24 4 1 0 17.8 £+ 7.2 (24.8 - 10.6
3 -4 19 2 1 G 15,9 + 6.9 (22.7 - 9.0
4 -5 16 3 2 0 12,7 £+ 6.4 (C18.1 - 6.3
5 - 11 11

TOTAL 121 101 9 11

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 32 29 0 0 9.4 £ 10.3 (19.7 - -0.9
1 -2 3 3 o] -0 0.0 £ 0.0 ¢ 0.0~ 0.0
2 -3 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
4 - 5 0 0 0 0 0.0+ 0.0 ¢ 0.0~ 0.0
5 - 0 0

TOTAL 32 32 0 0
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175, MBFHOFHVDRAINEFE (ARFHO. BB B, BRE)
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 621 26 9 0 95.8 + 1.6 (97.4 - 94.2
1 -2 586 27 10 0 91.3 + 2.3 (93.6 - 89.1
2 -3 549 34 11 0 85.6 + 2.9 (88,5 - 82.8
3 -4 504 22 19 0 81.8 + 3.2 (850 - 78.7
4 -5 463 13 46 0 79.4 £ 3.3 (82,7 - 76.1
5 - 404 404

TOTAL 621 122 95 404
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 74 15 1 0 79.6 £+ 9.4 (89.0 - 70.2
1 -2 58 12 0 0 63.1 + 11.3 ( 74.4 - 51.8
2 -3 46 11 1 0 47.9 + 11,7 (59.6 — 36.1
3 -4 34 5 1 0 40.7 £ 11.6 (52.3 - 29.1
4 -5 28 2 3 0 37.6 £ 11.5 ( 49.1 - 26.2
5 - 23 23

TOTAL 74 45 6 23
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 62 11 2 o] 82.0 £+ 9.8 (91.8 - 72.1
1 -2 49 12 1 0 61.7 £ 12.6 ( 74.3 - 49.1
2 -3 36 10 0 0 44.6 £ 12,9 (57.5 - 31.6
3 -4 26 3 0 0 39.4 = 12,7 (¢ 52.1 - 26.7
4 -5 23 0 2 0 39.4 + 12,7 (52,1 - 26.7
5 - 21 21

TOTAL 62 36 5 21
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 225 110 6 0 50.5 + 6.7 (57.2 - 43.7
1 -2 109 45 6 0 28.0 £+ 6.2 (35.2 - 22.8
2 -3 58 14 1 0 22.0 £ 5.7 (27.7 - 16.2
3 -4 43 18 1 ] 12.7 £+ 4.7 ((17.3 - 8.0
4 -5 24 4 3 0 10.4 £ 4.4 (14.8 - 6.0
5 - 17 17

TOTAL 225 181 17 17

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 27 24 0 0 11.1 £ 12.1 ¢23.2 - -1.0
1 -2 3 2 0 0 3.7+ 7.3 (11.0 - -3.6
2 -3 1 1 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 1] 0.0 £ 0.0 ¢ 0.0 - 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 o]

TOTAL 27 27 0 0
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17-6. MEBFHFHRMRANEFE (ARFHO, B, &, BRE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 592 22 9 0 96.3 £ 1.6 ( 97.8 - 94.7
o 1 -2 561 43 6 0 88.8 + 2.6 ( 91.4 - 86.2
i %t TR IR Y A 2 -3 512 33 11 0 83.0+ 3.1 (862 - 179.9
T IR 3 -4 468 20 16 0 79.4 + 3.4 (82.8 - 76.1
4 -5 432 20 39 0 75.6 £ 3.6 ( 79.2 - 72.0
5 373 373
TOTAL 592 138 81 373
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE  SURV.R£2SE 5% STD ERROR
0 -1 80 8 0 0 90.0 £+ 6.7 ( 96.7 - 83.3
KU R 1 -2 72 8 0 0 80.0 + 8.9 (889 - 71.1
FIAI B 2 -3 64 6 2 0 72.4 + 10.0 ( 82.4 - 62.4
Hxt et R 3-4 56 4 1 0 67.2 £ 10.6 ( 77.7 - 56.6
4-5 51 3 5 0 63.0 + 11.0 ¢ 74.0 - 52.1
5 - 43 43
TOTAL 80 29 8 43
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 67 17 0 0 74.6 + 10.6 ( 85.3 - 64.0
. 1 -2 50 10 1 0 59.6 £ 12.0 ( 71.6 - 47.5
HIELILIRE 2 - 3 39 10 0 0 44.3 + 12.2 ( §6.5 - 32.1
M IERAE Y bR 3 -4 29 7 1 0 33.4 £ 11.7 ¢ 45.1 - 21.7
4-5 21 6 2 0 23.4 + 10.7 ¢ 34.0 - 12.7
5 - 13 13
TOTAL 67 50 4 13
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 203 108 2 0 46.5 £ 7.0 ( 53.6 - 39.5
1 -2 93 36 5 0 28.0 + 6.4 (34.4 - 21.6
Al 32 2 -3 52 21 1 0 16.6 £+ 5.4 ¢ 22.0 - 11.2
4 B 2 i R
A I g Gl R 3 -4 30 7 1 0 12.7 + 4.9 C17.5 - 7.8
4 -5 22 4 2 0 10.2 £+ 4.5 ( 14.7 - 5.8
5 - 16 16
TOTAL 203 176 11 16
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 15 13 1 0 10.3 £ 16.0 ( 26.3 - ~5.7
1 -2 1 1 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
B 2 -3 o 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
o 3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
4-5 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
5 - 0 0
TOTAL 15 14 1 0
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7. HEENFHVDRNEFE HNHRFHE. ER. B, BE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 819 50 8 0 93.9 + 1.7 (955 - 92,2
1 -2 761 66 9 0 85.7 + 2.5 ( 88.1 - B3.2
YN 2 -3 686 56 8 0 78.6 + 2.9 ( 81.5 - 75.8
A ARG B 3 -4 622 46 15 0 72.8 £+ 3.2 (75.9 - 69.6
4-5 561 ag a6 0 67.7 + 3.3 (71.0 - 64.3
5 - 487 7
TOTAL 819 256 76 487
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 130 8 1 0 3.8+ 4.2 (98.1 - 89.6
1 -2 121 20 1 0 78.3 + 7.3 (855 - 71.0
320 2 -3 100 18 1 0 64.1 £ 8.5 (72.6 - 55.6
R xHGRIYIBR 3 -4 81 16 2 0 5§1.3 £+ 8.9 (60.2 - 42.4
4-5 63 8 5 0 44.5 + 8.3 ( 53.4 - 35.6
5 - 50 50
TOTAL 130 70 10 50

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 1 57 13 0 0 77.2 £ 11.1 (88,3 - 66.1
1 -2 44 13 0 0 54.4 * 13.2 (67.6 - 41.2
3Ly 2 -3 31 6 0 0 43.9 £ 13.1 (57.0 - 30.7
*”*]’JF‘ "EH;UF, 3 -4 25 7 0 0 31.6 £ 12.3 (43.9 - 19.3
4 -5 18 2 1 0 28.0 £ 11.9 (39.9 - 16.1

5 - 15 15

TOTAL 57 41 1 15

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 199 82 4 0 68.4 £+ 7.0 (65.4 - 51.4
1 -2 113 51 0 0 32.0 + 6.7 (38.7 - 25.3
Sy 2 -3 62 25 1 0 19.0 £ 5.6 (24.7 - 13.4
@‘;“I.JE( :’@tﬂm\‘ 3 -4 36 8 0 0 14.8 + 5.1 (19.9 - 9.7
4 -5 28 7 0 0 11.1 + 4.5 (15.6 - 6.6

S - 21 2]

TOTAL 198 173 5 21

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR

0 -1 45 31 1 0 30.3 + 13.8 (44,1 - 16.6
1 -2 13 10 0 0 7.0 7.8 (14.8 - -0.8
éru”j/\ 2 -3 3 2 0 0 2.3+ 4.6 (¢ 6.9 - -2.3
. 2 3 -4 1 1 0 0 0.0 £+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0

5 - 0 0

TOTAL 45 44 1 0
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178, MBFNFRNRINEFE (NBFHO. BB, L. BRE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 553 28 9 0 94.9 + 1.9 ( 96.8 - 93.0
1 -2 516 44 9 0 86.7 + 2.9 ( 89.6 - 83.8
NN 2 -3 463 41 9 0 79.0 £+ 3.5 ( 82.5 - 75.5
13 lt
H R B ER 3 -4 413 18 14 0 75.5 + 3.7 (19.2 - 11.7
4 -5 381 18 31 0 71.8 + 3.9 (75.7 - 67.8
5 - 332 332
TOTAL 553 149 72 332

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0-1 81 5 1 0 93.8 £+ 5.4 (99.2 - 88.4
1 -2 75 15 2 0 74.8 + 9.8 ( 84.5 - 65.0
o A T B 2 -3 58 9 1 0 63.1 + 10.9 ( 74.0 - 52.2
A g ) B 3-4 48 7 1 0 §3.8 + 11.3 ( 65.1 - 42.4
4 -5 40 2 2 0 51.0 + 11.4 ¢ 62.4 - 39.6
5 - 36 36
TOTAL 81 g 7 36
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 45 8 1 0 82.0 + 11.5 ¢ 93.5 - 70.5
-2 36 12 1 0 54.3 + 15.1 ( 69.4 - 39.2
H b Y4 2 -3 23 3 1 0 47.1 + 15.2 (€ 62.3 - 31.8
IR E R ] 3 -4 19 4 1 0 36.9 + 14.9 ( 51.8 - 21.9
4-5 14 1 1 0 34.2 + 14.8 ( 49.0 - 19.3
5 - 12 12
TOTAL 45 28 5 12
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 124 58 4 0 52.5 + 9.0 ( 61.5 - 43.4
1 -2 62 39 2 0 18.9 + 7.2 ¢ 26.1 - 11.7
RN 2 -3 21 8 0 0 11.7 + 6.0 (17.7 - 5.7
A xk G o) B 3 -4 13 2 1 0 9.8+ 5.6 (154 - 4.2
4-5 10 2 2 0 7.7+ 51 (12.8 - 2.5
5 - 6 6
TOTAL 124 1089 9 6
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 32 29 0 0 9.4 + 10.3 ¢19.7 - -0.9
1 -2 3 3 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
) 4 2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
A 3-4 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
4-5 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
5 - 0 0
TOTAL 32 32 0 0
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18-1. HBVAEEE (5. BRE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 1,755 194 31 0 88.8 + 1.5 (90.4 - 87.3
1 -2 1,530 150 25 0 80.1 = 1.9 (82.0 - 78.1
2 -3 1,355 120 28 0 72.9 £+ 2.2 (751 - 70.7
3 -4 1,207 71 41 o] 68.5 + 2.3 ( 70.8 - 66.3
4 -5 1,095 48 103 0 65.4 =+ 2.3 (67.7 - 63.1
5 - 944 944

TOTAL 1,755 583 228 944

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 103 43 2 0 67.8 + 9.8 (67.6 - 48.1
1 -2 58 22 1 0 35.7 £ 9.6 (45.3 - 26.1
2 -3 35 12 0 o] 23.5 £+ 85 (32.0 - 15.0
3 -4 23 9 1 0 14.1 £ 7.0 C21.1 - 7.0
4 -5 13 4 0 0 9.7 + 6.1 «(¢15.8 - 3.7
5 - 9 9

TOTAL 103 90 4 9

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 66 33 0 0 50.0 + 12.3 (62.3 - 37.7
1 -2 33 17 2 0 23.4 + 10.5 ( 34.0 - 12.9
2 -3 14 9 0 0 8.4+ 7.1 (155 - 1.3
3 -4 5 4 0 0 1.7+ 3.3 ¢ 5.0--1.6
4 S 1 0 1 0 1.7+ 3.3 ¢ 5.0--1.6
S - 0 0

TOTAL 66 63 3 0
YEAR OF ALIVE AT DIED I[N LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 99 80 2 0 18.4 £ 7.8 (26.2 - 10.5
1 -2 17 10 1 0 7.2 £ 5.4 (C12.6 - 1.8
2-3 6 3 0 0 3.6 £+ 4.0 (¢ 7.6 - -0.4
3 -4 3 3 0 ] 0.0 0.0 ¢ 0.0- 0.0
4 -5 o] 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - o 0

TOTAL 99 96 3 0
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18-2. HAAEBE (EB. BRE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 1,910 186 22 0 89.7 £ 1.4 (91.1 - 88.3
1 -2 1,692 224 24 0 77.7 £ 1.8 (79.6 - 75.8
2 -3 1,444 157 21 0 69.2 £+ 2.1 (7.3 -67.1
3 -4 1,266 105 35 0 63.4 £ 2.2 (65.6 - 61.2
4 -5 1,126 78 79 0 68.8 £+ 2.3 (61.1 - 56.5
5 - 969 969

TOTAL 1,910 760 181 969

YEAR OF ALIVE AT DIED 1IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 71 26 3 0 62.6 £ 11.6 ( 74.2 - 51.0
1 -2 42 25 1 0 24.9 £ 10.6 (35.5 - 14.3
2 -3 16 7 0 0 14.0 £+ 8.6 (22.6 - 5.4
3 -4 9 3 0 0 8.3 7.2 (16.5 - 2.1
4 -5 6 1 1 0 7.6 £ 6.7 (14.3 - 1.0
5 - 4 4

TOTAL 71 62 5 4

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 63 32 3 0 48.0 + 12.7 ( 60.7 - 35.2
1 -2 28 18 0 0 17.1 £+ 9.8 (26.9- 7.3
2-3 10 S 1 0 8.1 £ 7.2 (15.4 - 0.9
3 -4 4 2 0 0 4.1 + 6.4 C 9.5 - -1.4
4 - § 2 1 0 0 2.0+ 4.0 ¢ 6.0 - -1.9
5 - 1 1

TOTAL 63 58 4 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 70 57 1 0 18.0 £+ 9.2 (27.2 - 8.8
1 -2 12 9 0 0 4.5+ 5.1 C 9.5 - -0.6
2 -3 3 2 0 0 1.5+ 3.0 ¢ 4.5 - -1.5
3 -4 1 0 0 0 1.5+ 3.0 ¢ 4.5 - -1.5
4 -5 1 0 0 0 1.5+ 3.0 ( 4.5 - -1.5
S - 1 1

TOTAL 70 68 1 1
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19-1. PRIEREE (5. IRE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0-1 1,793 224 28 0 87.4 + 1.6 (89.0 - 85,8
1 -2 1,541 154 27 0 78.6 + 2.0 (80.5 - 76.6
P 2 -3 1,360 129 286 0 71.1 £ 2.2 (73.2 - 68.8
0 3 -4 1,205 84 42 0 66.0 £ 2.3 (68.3 - 63.7
4 -5 1,079 51 102 0 62.8 + 2.3 (651 - 60.4

5 - 926 926

TOTAL 1,793 642 225 926

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR

0-1 93 38 5 0 58.0 + 10.4 ( 68.4 - 47.6
1 -2 50 15 2 0 40.3 + 10.5 ( 50.7 - 29.8
P 2 -3 33 5 1 0 34.1 + 10.2 ( 44.3 - 23.8
1 3 -4 27 5 0 0 27.8 + 9.8 (¢ 37.5 - 18.0
4-5 22 1 2 0 26.4 £+ 9.7 (36.1 - 16.8

5 - 19 19

TOTAL 93 64 10 19

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0-1 71 39 0 0 45.1 + 11.8 (¢ 56.9 - 33.3
1 -2 32 17 0 0 21.1 + 9.7 (30.8 - 11.4
P 2 -3 15 9 1 0 8.0 + 6.5 (14.5 - 1.5
2 3 -4 5 0 0 0 8.0+ 6.5 ( 14.5 1.5
4 -5 5 0 0 0 8.0 x 6.5 <(14.5 - 1.5
5 - 5 5
TOTAL 71 65 1 5
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 75 54 2 0 27.0 £ 10.3 (¢ 37.4 - 16.7
1 -2 18 14 1 0 6.6 £+ 5.9 (12.5 - 0.6
P 2 -3 4 1 0 0 4.9 + 5.3 (10.2 - -0.4
3 3 -4 3 0 0 0 4.9 £+ 5.3 (10.2 - -0.4
4 -5 3 1 0 0 3.3 + 4.4 « 7.7 - -1.1
5 - 2 2
TOTAL 75 70 3 2
SURV IVAL RATE [EIRTEIL 7 P —
19—-1 2P=0. 01 = P=0.05 Plin=s 93e . - .55»']
. P2:n= Mg a
P;J‘l] ° ljl"];z'r X Piin= 758 - — a
1007;.\
\». ~
\ T
\ T~
\ - —
\ T
\ H \{»\*
AR
Vot
50 | S .
. i v M
o Y

[ R [PV RVEVEY] PRV RVEVEV

(R V™



Po

P3

19—-2
Py « W'

19-2. PRIEFE (EB. IRE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 65X STD ERROR
0-1 1,994 243 27 0 87.7 £+ 1.5 (89.2 - 86.3
1 -2 1,724 252 25 0 74.8 £+ 2.0 (76.8 - 72.9
2 -3 1,447 166 20 0 66.2 + 2.1 (68.3 - 64.0
3 -4 1,261 105 35 0 60.6 + 2.2 (62.8 - 58.4
4 -5 1,121 79 80 o] 66.2 + 2.3 (658.4 - 53.9
5 - 962 962

TOTAL 1,994 845 187 962

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 62 27 o 0 56.5 =+ 12.6 (69.0 - 43.9
1 -2 35 14 0 0 33.9 £ 12.0 (45.9 - 21.8
2 -3 21 4 i 0 27.3 =+ 11.3 ( 38.6 - 15.9
3 -4 16 6 0 0 17.0 £+ 9.7 (26.7 - 7.4
4 -5 10 1 0 0 15,3 £ 9.3 (24.6 - 6.0
5 - 9 9

TOTAL 62 52 1 9

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0-1 29 21 1 0 26.3 = 16.5 ( 42.8 - 9.8
1 -2 7 5 0 0 7.5 £ 10.1 C17.7 - -2.6
2-3 2 1 0 0 3.8 + 7.3 (11.1 - -3.6
3 -4 1 0 0 0 3.8+ 7.3 (11.1 - -3.6
4 -5 1 0 0 o] 3.8 7.3 (C11.1 - -3.6
5 - 1 1

TOTAL 29 27 1 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 28 22 0 0 21.4 = 15,5 (36.9 - 6.9
1 -2 6 S 0 0 3.6+ 7.0 (C10.6 - -3.4
2 -3 1 o] 0 0 3.6 + 7.0 (10.6 - -3.4
3 -4 1 0 0 0 3.6 + 7.0 <C10.6 - -3.4
4 -5 1 0 0 0 3.6 £ 7.0 (10.6 - -3.4
5 - 1 1

TOTAL 28 27 0 1
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20 MBI&ETFE (BRiE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR

0 -1 1,916 300 29 0 84.2 + 1.7 (859 - 82.6
1 -2 1,587 184 27 0 74.4 £ 2.0 C(76.4 - 72.4
iy, M(—-) 2-38 1,376 141 28 0 66.7 £ 2.2 ( 68.9 - 64.5
3 -4 1,207 84 40 0 62.0 + 2.3 ( 64.2 - 59.7
4-5 1,083 50 102 0 §9.0 + 2.3 ( 61.3 - 56.7
5 - 931 931
TOTAL 1,816 759 226 931
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 54 33 2 0 37.7 + 13.3 C 51.1 - 24.4
e M 1 -2 19 8 2 0 21.0 + 11.5 ¢ 32.6 - 9.4
1L + 2 -3 9 2 0 0 16.3 + 10.7 ( 27.0 - 5.6
il (+) 3-4 7 1 0 0 14.0 + 10.1 ¢ 24.1 - 3.9
4-5 6 3 1 0 6.4 £ 7.5 (13.9 - -1.2
5 - 2 2
TOTAL 54 47 5 2
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 2,046 283 26 0 86.1 + 1.5 ( 87.6 - 84.5
i 1 -2 1,737 252 23 0 73.5 + 2.0 ( 75.5 - 71.5
CPLL — 2 -3 1,462 163 22 0 65.3 ¢t 2.1 ( 67.4 - 63.1
Wy M(-) 3 -4 1,277 110 3s 0 59.6 + 2.2 ( 61.8 - 57.3
4-5 1,132 77 80 0 55.4 + 2.2 ¢ 57.6 - 58,1
5 - 975 975
TOTAL 2,046 885 186 975
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 64 29 1 0 54.3 + 12.5 ¢ 66.8 - 41.8
, 1 -2 34 19 1 0 23.5 £ 10.8 ¢ 34.3 - 12.8
S 2 -3 14 6 0 0 13,4+ 8.7 (22.2 - 4.7
ik, M(+)  223% 8 1 0 0 11.8 + 83 (20.0- 3.5
4-5 7 3 1 0 6.3 + 6.4 ¢ 12.7 - —0.1
5 3 3
TOTAL 64 58 3 3
20 SURVIVAL RATE . M)
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21-1. NBIERE (BB, BRE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 543 38 14 0 92.9 + 2.2 (951 - 90.7
1 -2 491 26 6 0 88.0 + 2.8 (90.8 - 85.1
2 -3 459 41 10 0 80.0 + 3.5 (835 - 76.5
3 -4 408 15 16 0 77.0 £ 3.7 <(80.7 - 73.3
4 -5 377. 11 36 0 74.7 £ 3.8 (78.5 - 70.8
5 - 330 330

TOTAL 543 131 82 330

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 641 76 10 0 88.1 + 2.6 (90.6 - 85.5
1 -2 555 72 7 0 76.6 £+ 3.4 (79.9 - 73.2
2 -3 476 48 10 0 68.8 £ 3.7 (72.5 - 65.0
3 -4 418 28 10 0 64.1 + 3.9 (67.9 - 60.2
4 - 5 380 23 28 0 60.1 =+ 4.0 (64.0 - 56.1
S - 329 328

TOTAL 641 247 65 329

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 470 82 6 0 82.4 + 3.5 (86.0 - 78.8
1 -2 382 45 7 0 72.6 £+ 4.1 (76.8 - 68.5
2 -3 330 30 4 0 66.0 + 4.4 (70.4 - 61.6
3 -4 286 28 11 0 5.6 + 4.6 (64.2 - 55.0
4 -5 257 14 32 0 56.2 + 4.7 (60.9 - 51.5
5 - 211 211

TOTAL 470 199 60 211

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP [IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 175 59 2 0 66.1 + 7.2 (73.3 - 58.9
1 -2 114 30 5 0 48.3 £ 7.6 ( 55.9 - 40.7
2 -3 79 10 2 0 42.1 £ 7.6 (48.7 - 34.5
3 -4 67 8 2 0 37.0 £ 7.5 ( 44.5 - 29.5
4 - 5 57 0 6 0 37.0 £ 7.5 ( 44.5 - 29.5
5 - 51 51

TOTAL 175 107 17 51

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 96 50 1 0 47.6 + 10.2 (57.9 - 37.4
1 -2 45 15 2 0 31.4 £ 9.6 (41.0 - 21.8
2 -3 28 6 0 0 24.7 + 9.0 (33.6 - 15.7
3 -4 22 7 1 0 16,6 £ 7.8 (24.5 - 8.8
4 - 5 14 3 0 0 13.1 + 7.2 (20.2 - 5.9
5 - 11 11

TOTAL 96 81 4 11
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212. NBIkEEE (BB, IRE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 770 62 13 0 91.9 ¢+ 2.0 (93.9 - 89.8
1 -2 695 54 8 0 84.7 £ 2.6 (87.3 - 82.1
2 -3 633 63 13 0 77.5 £+ 3.0 (80.6 - 74.5
3-4 567 37 15 0 72.4 £ 3.3 (75.7 - 69.1
4 -5 515 29 39 0 68.2 + 3.4 (71.6 - 64.7
5 - 447 447

TOTAL 770 235 88 447

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 56X STD ERROR
0 -1 650 69 9 0 89.3 + 2.4 (91.7 - 86.9
1 -2 572 93 5 0 74.7 £ 3.4 (€78.2 - 71.3
2-3 474 67 6 0 64.1 £+ 3.8 (67.9 - 60.3
3 -4 401 41 8 0 7.5 + 3.9 (61.4 - 53.5
4 -5 352 27 31 0 62.9 * 4.0 (56.9 - 48.9
5 - 294 294

TOTAL 650 297 59 294
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 440 72 S 0 83.5 + 3.5 (87.1 - 80.0
1 -2 363 76 9 0 65.8 + 4.6 ( 70.4 - 61.3
2-3 278 36 1 0 57.3 =+ 4.8 (62.1 - 52,5
3 -4 241 28 9 0 60.5 + 4.9 ( 55.4 - 45.7
4 -5 204 19 9 0 45.7 £ 4.9 (50.6 - 40.8
5 - 176 176

TOTAL 440 231 33 176
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 105 32 0 0 69.5 * 9.0 (78.5 - 60.5
1 -2 73 24 2 0 46.3 + 9.8 (56.1 - 36.6
2 -3 47 5 1 0 41.4 £+ 9.7 (51.1 - 31.7
3 -4 41 4 K] 0 37.2 £+ 9.6 (46.7 - 27.6
4 -5 34 3 0 0 33.9 + 9.4 (43.3 - 24.5
s - 31 31

TOTAL 105 68 6 31
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 70 44 1 0 36.7 £ 11.6 (48.3 - 25.1
1 -2 25 15 0 0 14.7 £ 8.5 (23.2 - 6.1
2 -3 10 5 0 0 7.3+ 6.3 (13.6 - 1.0
3 -4 5 o] 0 0 7.3+ 6.3 (13.6 - 1.0
4 -5 5 0 0 0 7.3+ 6,3 (13.6 - 1.0
5 - 5 5

TOTAL 70 64 1 5
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221, nBIEHFE (BB, B&)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 1,035 64 19 0 93.8 + 1.5 (95.3 - 982.2
1 -2 952 69 14 0 86.9 + 2.1 (89.0 - 84.8
2 -3 869 59 15 0 81.0 + 2.5 (83.4 - 78.5
3 -4 7956 35 30 0 77.3 £+ 2.7 (<80.0 - 74.7
4 -5 730 29 64 0 74.1 £ 2.8 (76.9 - 71.3
5 - 637 637

TOTAL 1,035 256 142 637

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 438 91 6 0 79.1 £ 3.9 (83.0 - 75.2
1 -2 341 53 6 0 66.7 £+ 4.5 (71.2 - 62.1
2 -3 282 41 6 0 66.9 + 4.8 (61.7 - 52.1
3 -4 235 26 4 0 50.5 £+ 4.9 (554 - 45.7
4 -5 205 10 23 0 47.9 £ 4.9 (52.8 - 43.0
5 - 172 172

TOTAL 438 221 45 172

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 237 51 4 0 78.3 £ 5.4 (83.7 - 72.9
1 -2 182 26 5 0 67.0 £ 6.2 (73.1 - 60.8
2 -3 151 25 3 0 656.8 + 6.6 (62.3 - 49.2
3 -4 123 15 5 0 48.8 + 6.7 ( 55.5 - 42.2
4 - 5 103 9 9 0 44.4 =+ 6.7 (51.0 - 37.7
5 - 85 85

TOTAL 237 126 26 85
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 78 34 0 0 66.4 =+ 11.2 (67.6 - 45.2
1 -2 44 18 0 0 33.3 £ 10.7 ( 44.0 - 22.7
2-3 26 5 1 [ 26.8 =+ 10.1 (36.9 - 16.7
3 -4 20 3 0 0 22.8 £+ 9.6 (32,3 - 13.2
4 -5 17 0 3 0 22.8 £+ 9.6 (32.3 - 13.2
5 - 14 14

TOTAL 78 60 4 14
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 50 27 0 o] 46.0 = 14.1 (60.1 - 31.89
1 2 23 9 1 0 27.6 £ 12.7 ( 40.3 - 14.9
2 -3 13 5 0 0 17.0 =+ 10.8 ( 27.8 - 6.2
3 -4 8 3 2 0 8.7 8.9 (18,6 - 0.8
4 -5 3 1 0 0 6.5+ 7.9 (14.4 - -1.5
5 - 2 2

TOTAL S0 45 3 2
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0-1 1,004 71 16 0 92.9 + 1.6 (94.5 - 91.2
1 -2 917 68 14 0 85.9 + 2.2 (88.1 - 83.7
2 -3 835 63 14 0 79.4 £ 2.6 (82.0 - 76.8
3 -4 758 41 18 0 75.0 £ 2.8 (¢ 77.8 - 72.3
4 -5 699 42 53 0 70.4 £ 3.0 (73.3 - 67.4
5 - 604 604

TOTAL 1,004 285 115 604

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0o -1 486 62 4 0 87.2 + 3.0 (90.2 - 84.2
1 -2 420 75 2 0 71.6 £+ 4.1 (C75.7 - 67.5
2 -3 343 47 5 0 61.7 + 4.4 (66.1 - 57.3
3 -4 291 31 6 0 66.1 + 4.6 (59.6 - 50.5
4 -5 254 16 20 0 61.5 + 4.6 (56.1 - 46.8
5 - 218 218

TOTAL 486 231 37 218

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 320 57 6 0 82.0 £+ 4.3 (86.3 - 77.7
1 -2 257 73 5 0 68.56 + 5.6 (64.1 - 52.9
2 -3 179 36 2 0 46.7 * 5.7 (52.3 - 41.0
3 -4 141 28 7 0 37.2 £ 5.5 (42,7 - 31.6
4 -5 106 16 3 0 31.56 £+ 5.4 (36.8 - 26.1
5 - 87 87

TOTAL 320 210 23 87
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 69 16 0 0 76.8 + 10.2 ( 87.0 - 66.7
1 -2 53 23 3 0 42.5 £ 12.0 ( 54.5 - 30.5
2 -3 27 9 0 0 28.3 £ 11.1 (38.5 - 17.2
3 -4 18 6 0 0 18.9 + 9.7 (28.6 - 9.2
4 -5 12 2 0 0 16,7 £ 8.1 (24.8 - 6.7
5 - 10 10

TOTAL 69 56 3 10
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 41 25 1 ] 38.3 £ 15.3 (53.5 - 23.0
1 -2 15 8 0 0 17.9 + 12.2 (¢ 30.0 - 5.7
2 -3 7 4 0 0 7.7+ 865 (16.1 -~ -0.8
3 -4 3 0 0 -0 7.7+ 8.5 (16.1 - -0.8
4 -5 3 0 o] 0 7.7+ 85 (C(16.1 - -0.8
5 - 3 3

TOTAL 41 37 1 3
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23-1. REENEFE (BB, RE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 43 3 1 0 92.9 + 7.9 (100.8 - 85.1
1 2 39 2 1 0 88.1 + 10.0 (98.1 - 78.1
2 -3 36 1 -0 0 85.7 £ 10.8 (96.5 - 74.8
3 -4 35 1 1 0 83.2 = 11.6 (94.8 - 71.6
4 -5 33 1 5 0 80.5 + 12.4 (92.9 - 68.0
5 - 27 27

TOTAL 43 8 8 27

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 64 2 3 0 96.8 £+ 4.5 <(01.3 - 92.3
1 -2 59 0 2 0 96.8 £+ 4.5 (101.3 - 92.3
2-3 57 3 1 0 91.7 £ 7.2 (98.8 - 84.5
3 -4 53 0 2 0 91.7 + 7.2 (98.8 - 84.5
4 -5 51 0 3 0 91.7 £ 7.2 (98.8 - 84.5
5 - 48 48

TOTAL 64 5 11 48

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 142 4 2 0 97.2 + 2.8 (100.0 - 94.4
1 -2 136 5 0 0 93.6 + 4.1 (97.7 - 89.5
2 -3 131 4 3 0 90.7 + 4.9 (95.6 - 85.8
3 -4 124 5 9 0 86.9 + 5.8 (92.7 - 81.1
4 -5 110 6 12 0 81.9 £ 6.7 (88.6 - 75.2
65 - 92 92

TOTAL 142 24 26 92

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 769 81 12 0 89.4 =+ 2.2 (91.6 - 87.2
1 -2 676 68 14 0 80.3 + 2.9 (83.2-77.4
2-3 594 55 13 0 72.8 + 3.3 (76.0 - 69.5
3 -4 526 30 15 0 68.6 £+ 3.4 (72.0 - 65.2
4 -5 481 17 46 ] 66.0 + 3.5 (68.5 - 62.5
5 - 418 418

TOTAL 769 251 100 418

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 732 155 8 0 78.7 £+ 3.0 (81.7 - 75.7
1 -2 569 87 11 0 66.6 + 3.5 (70.1 - 63.0
2 -3 471 65 10 0 67.3 + 3.7 (61.0 - 53.6
3 -4 396 40 10 0 561.4 £+ 3.8 (55.2 - 47.7
4 -5 346 21 27 0 48.2 + 3.8 (51.9 - 44.4
5 - 298 298

TOTAL 732 368 66 298
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 169 68 4 0 68.7 £ 7.6 (66.3 - 51.1
1 -2 96 25 1 0 43.3 + 7.7 (51.0 - 35.6
2 -3 70 12 1 0 35.8 + 7.5 (48.3 - 28.3
3 -4 57 8 1 0 30.8 £+ 7.2 (38,0 - 23.5
4 -5 48 7 6 0 26.0 £ 7.0 (32.9 -19.0
5 - 35 35

TOTAL 169 121 13 35
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP [N ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 66 1 1 0 98.5 £+ 3.0 (101.5 - 85.4
1 -2 64 0 0 o 98.5 + 3.0 (101.5 - 85.4
2 -3 64 3 0 0 93.9 £+ 6.0 (99.8 - 87.9
3 -4 61 2 3 0 90.7 + 7.2 (987.9 - 83.5
4 -5 56 2 2 0 87.4 £+ 8.3 (95.7 - 78.1
5 - 52 52

TOTAL 66 8 6 52
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 109 4 1 0 96.3 £+ 3.6 (99.9 - 92.7
1 -2 104 7 2 0 89.8 + 5.8 (985.6 - 83.9
2 -3 95 6 4 0 84.0 £+ 7.1 (91.1 - 76.8
3 -4 85 1 1 0 83.0 £+ 7.8 (80.3 - 75.7
4 -5 83 1 6 0 81.9 £ 7.5 (89.5 - 74.4
5 - 76 76

TOTAL 109 19 14 76

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 377 22 6 0 94.1 £ 2.4 (96.6 - 91.7
1 -2 349 18 10 0 88.3 + 3.3 (92.2 - 85.7
2 -3 320 18 2 ] 83.9 + 3.8 (87.7 - 80.1
3 -4 300 14 10 0 79.9 + 4.2 (84.1 - 75.7
4 -5 276 12 20 0 76.3 + 4.5 (80.8 - 71.8
5 - 244 244

TOTAL 377 85 48 244

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 5674 66 6 0 88.4 + 2.7 (91.1 - 85.8
1 -2 502 60 11 o 77.8 £+ 3.5 (81.3 - 74.3
2 -3 431 44 9 0 69.7 £+ 3.9 (73.6 - 65.8
3 -4 378 35 10 0 63.2 + 4.1 (67.3 - 59.1
4 -5 333 27 23 0 57.9 + 4.2 (62.1 - 53.6
5 - 283 283

TOTAL 574 232 59 283

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 749 125 12 0 83.2 =+ 2.7 (85.9 - 80.4
1 -2 612 126 2 0 66.0 =+ 3.5 (69.5 - 62.5
2 -3 484 80 8 0 66.0 £+ 3.7 (58.7 - 51.3
3 -4 396 51 8 0 47.9 £+ 3.7 (51.6 — 44.2
4 -5 337 34 27 0 42.8 + 3.7 (46.5 - 39.1
5 - 276 276

TOTAL 749 416 57 276
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 146 40 1 0 72.6 + 7.4 (79.9 - 65.1
1 -2 105 41 0 0 44.2 + 8.2 (52.4 - 35.9
2 -3 64 19 0 0 31.1 + 7.7 (38.8 - 23.4
3 - 4 45 6 3 0 26.8 + 7.4 (34.2 - 19.4
4 -5 36 4 2 0 23.7 + 7.1 (30.9 - 16.6
5 -~ 30 30

TOTAL 146 110 6 30
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 31 0 1 0 100.0 £ 0.0 <¢100.0 -100.0
1 -2 30 0 0 0 100.0 £ 0.0 (¢100.0 -100.0
2 -3 30 1 3 0 96.5 + 6.9 (103.4 - 89.6
3 -4 26 0 1 0 86.5 + 6.9 (103.4 - 89.6
4-5 25 0 3 0 96.5 + 6.9 (103.4 - 89.6
5 - 22 22
TOTAL 31 1 8 22
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 2,016 354 34 0 82.3 + 1.7 ( 84.0 - 80.6
1 -2 1,628 202 30 0 72.0 + 2.0 ( 74.0 - 70.0
2 -3 1,396 144 28 0 64.5 + 2.2 (66.6 - 62.3
3 -4 1,224 89 41 ] §9.7 + 2.2 (61.9 - §7.5
4 -5 1,094 52 103 0 §6.7 + 2.3 (59.0 - 54.5
5 - 933 939
TOTAL 2,016 841 236 939
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+2SE 5% STD ERROR
0-1 13 9 0 0 30.8 + 25.6 ( 56.4 - 5.2
1 -2 4 3 0 (] 7.7 + 14.8 (¢ 22.5 - -7.1
2 -3 1 0 0 0 7.7 £+ 14.8 (22.5 - -7.1
.. 3-4 1 0 0 0 7.7 + 14.8 ( 22.5 - -7.1
p¥) a-5 1 0 0 0 7.7 £ 14.8 (22.5 - -7.1
5 - 1 1
TOTAL 13 12 0 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 7 4 0 0 42.9 £ 37.4 (80.3 - 5.4
1 -2 3 0 0 0 42.9 + 37.4 (80.3 - 5.4
2 -3 3 0 0 0 42.9 + 37.4 (80.3 - 5.4
3-4 3 0 0 0 42.9 + 37.4 (80.3 - 5.4
4 -5 3 1 0 0 28.6 + 34.1 (62.7 - -5.6
5 - 2 2
TOTAL 7 5 0 2
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 21 1 1 0 95.1 £+ 9.5 (104.6 - 85.6
1 -2 19 1 0 0 90.1 *+ 13.3 (103.4 - 76.8
2 -3 18 0 1 0 90.1 = 13.3 (103.4 - 76.8
3 -4 17 0 0 0 90.1 + 13.3 (103.4 - 76.8
4 -5 17 o] 1 0 90.1 = 13.3 (103.4 - 76.8
5 - 16 16
TOTAL 21 2 3 16
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 2,117 302 27 0 85.6 £+ 1.5 ( 87.2 - 84.1
1 -2 1,788 271 25 0 72.6 £+ 2.0 ( 74.5 - 70.6
2-3 1,482 173 24 0 64.1 + 2.1 (66.2 - 62.0
3 -4 1,295 111 35 0 58.6 £+ 2.2 (60.7 - 56.3
4 -5 1, 149 80 82 0 54.3 + 2.2 (656.5 - 52.1
5 - 987 987
TOTAL 2,117 937 193 987
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 36 24 1 0 32.4 £ 15.7 ( 48.1 - 16.7
1 -2 11 8 2 0 6.5+ 88 (153 - -2.3
2 -3 1 o] 0 0 6.5+ 88 (153 - -2.3
Py 3 -4 1 0 0 0 6.5 + 8.8 (153 --2.3
t) 4 - 5 1 0 0 o 6.5+ 8.8 (153 - -2.3
5 - 1 1
TOTAL 36 32 3 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 2 1 1 0 33.3 £ 77.0 (110.3 --43.6
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2-3 0 0 0 (o} 0.0t 0.0 ¢ 0.0- 0.0
3 -4 0 0 [o] 0 0.0 £+ 0.0 ¢ 0.0 - 0.0
4 - 5 0 0 0 0 0.0 £ 0.0 ¢ 0.0 - 0.0
5 - 0 0
TOTAL 2 1 1 0
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 506 24 10 0 95.2 + 1.9 (97.1 - 83.3
1 -2 472 23 6 0 90.5 + 2.6 (¢ 93.2 - 87.9
No &t 2 -3 443 38 10 0 82.7 + 3.4 (861 - 79.3
i 3-4 395 1 16 0 80.3 + 3.6 (83.9 - 76.7
4 -5 368 11 34 ] 77.8 + 3.8 ( 81.6 - 74.0
5 - 323 323
TOTAL 506 107 76 323
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 745 53 11 0 92.8 + 1.9 (¢ 94.7 - 90.89
1 -2 681 47 8 0 86.4 + 2.5 ( 88.9 - 83.9
e 2 -3 626 50 13 0 79.4 + 3.0 ( 82.4 - 76.4
No itz 3 -4 563 37 15 0 74.1 + 3.3 (77.4 - 70.9
4-5 S11 27 38 0 70.1 + 3.4 ( 73.5 - 66.6
5 - 446 446
TOTAL 745 214 85 446
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 424 13 9 0 96.9 + 1.7 ( 98.6 - 95.2
1 -2 402 20 8 0 92.0 + 2.7 ( 94.7 - 89.4
o L 2 -3 374 27 8 0 85.3 + 3.5 ( 88.8 — 81.8
il 3 -4 339 17 12 0 81.0 + 3.9 (84.9 - 77.0
4 -5 310 18 37 0 76.0 + 4.3 (¢ 80.3 - 71.6
5 - 255 255
TOTAL 424 95 74 255
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 418 19 12 0 95.4 + 2.1 (97.5 - 93.3
1 -2 387 21 7 0 90.2 + 3.0 (93.1 - B7.2
—t-pn 2 -3 359 35 6 0 81.3 + 3.9 (852 - 77.4
no K} 3 -4 318 12 7 0 78.2 + 4.1 (82.3 - 74.1
4 -5 299 15 19 0 74.1 + 4.4 ( 78.6 - 69.7
5 - 265 265
TOTAL 418 102 51 265
25 SURVIVAL RATE NO 88 :n= 506 o———o
¥P=0.01 «P=0.05 NO @8 : )
n0 &M
No, no % no B
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26-1. 5%%&2”&#% (HO\ PO\ M(—)\ NO\ %B%)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 35 1 1 0 87.1 =+ 5.7 02.8 - 91.4
1 -2 33 1 0 0 94.2 + 8.0 (102.2 - 86.1
2-3 32 1 0 0 91.2 + 9.7 <(100.9 - 81.5
3 -4 31 1 1 0 88.2 + 11.1 (99.3 - 77.2
4 -5 29 1 4 0 85.0 = 12.4 (97.4 - 72.5
5 - 24 24

TOTAL 35 5 6 24

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 52 3 2 0 84.1 =+ 6.6 (100.7 - 87.5
1 -2 47 1 2 0 92.1 £+ 7.6 (99.7 - 84.5
2 -3 44 3 2 0 85.6 £ 10,1 (85,7 - 75.6
3 -4 39 1 2 0 83.4 + 10.8 (94.2 - 72.6
4 -5 36 0 3 0 83.4 = 10.8 (94.2 - 72.6
5 - 33 33

TOTAL 52 8 11 33

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 52 1 1 0 98.1 + 3.8 (101.9 - 94.2
1 -2 50 0 1 0 98.1 £+ 3.8 (101.9 - 94.2
2 -3 43 1 1 0 86.0 £+ 5.5 (101.5 - 80.5
3 4 47 1 0 0 94.0 £ 6.7 (100.7 - 87.3
4 -5 46 3 3 0 87.7 £ 9.4 (97.1 - 78.2
5 - 40 40

TOTAL 52 6 6 40

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 114 3 3 0 87.3 + 3.0 (100.4 - 94.3
1 -2 108 1 1 0 96.4 £+ 3.5 (99.9 - 92.8
2 -3 106 6 2 0 90.9 + 5.5 (96.4 - 85.4
3 -4 98 1 4 0 80.0 £ 5.7 (95.7 - 84.2
4 -5 93 1 11 0 88.9 + 6.0 (85.0 - 82.9
5 - 81 81

TOTAL 114 12 21 81

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 175 12 2 0 93.1 + 3.8 (96.9 - 89.3
1 -2 161 14 1 0 85.0 £ 5.4 (90.4 - 79.6
2 -3 146 19 4 0 73.8 + 6.7 (80.5 - 67.0
3 -4 123 5 6 0 70.7 £ 7.0 (¢ 77.7 - 63.7
4 -5 112 2 8 0 69.4 £ 7.1 (76.5 - 62.3
5 - 102 102

TOTAL 175 52 21 102

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 45 3 1 0 93.3 + 7.5 (100.8 - 85.7
1 -2 41 4 0 0 84.2 = 11.0 (€ 85.1 - 73.2
2 -3 37 5 0 o] 72.8 + 13.4 (86.2 - 59.4
3 -4 32 2 0 o] 68.2 + 14.0 (82.3 - 54.2
4 -5 30 3 3 0 61.1 = 14.8 ( 75.9 - 46.3
5 - 24 24

TOTAL 45 17 4 24
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26-2. RIEFEHEFE (Hoo Po. Mo). Nio #B5)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0
2 -3 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0
3 -4 1 0 0 0 100.0 £ 0.0 (€100.0 -100.0
4 -5 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
5 - 1 1

TOTAL 1 0 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 2 0 0 0 100.0 £+ 0.0 <(100.0 -100.0
1 -2 2 0 0 0 100.0 £ 0.0 <100.0 -100.0
2-3 2 0 0 0 100.0 =+ 0.0 <100.0 -100.0
3 -4 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
4 -5 2 0 0 0 100.0 £+ 0.0 (100.0 -100.0
5 - 2 2

TOTAL 2 0 0 2
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP [IN ALIVE SURV. R 2SE 5% STD ERROR
0 -1 25 0 0 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 25 2 1 0 91.8 £ 11.1 (102.9 - 80.8
2 -3 22 1 1 0 87.6 + 13.4 (101.0 - 74.1
3 -4 20 0 2 0 87.6 = 13.4 (101.0 - 74.1
4 -5 18 0 1 0 87.6 £ 13.4 (101.0 - 74.1
5 - 17 17

TOTAL 25 3 5 17
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 120 4 3 0 96.6 + 3.3 (99.9 - 93.3
1 -2 113 8 2 0 89.7 £+ 5.6 (95.3 - 84.1
2 -3 103 8 1 0 82.7 £+ 7.0 (89.8 - 75.7
3 -4 94 10 4 0 73.7 £+ 8.3 (820 - 65.5
4 -5 80 3 8 0 70.8 + 8.6 ( 79.4 - 62.2
5 - 69 69

TOTAL 120 33 18 69
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 275 17 3 o] 93.8 + 2,9 (86.7 - 90.9
1 -2 255 28 2 0 83.4 + 4.5 (88.0 - 78.9
2-3 225 20 5 0 75.9 £ 5.2 (8l.1 - 70.7
3 -4 200 6 2 0 73.7 £ 5.4 (79.0 - 68.3
4 -5 192 13 11 0 68.5 + 5.7 (74.2 - 62.8
5 - 168 168

TOTAL 275 84 23 168
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 56X STD ERROR
0 -1 75 12 0 0 84.0 £+ 8.5 (92.5 - 75.5
1 -2 63 6 1 0 75.9 £ 9.9 (85.8 - 66.0
2-3 56 4 2 0 70.4 = 10.6 ( 81.0 - 59.8
3 -4 50 3 1 0 66.1 =+ 11.0 ( 77.2 - 55.1
4 -5 46 5 3 0 68.7 * 11.6 ( 70.3 - 47.1
5 - 38 38

TOTAL 75 30 7 38
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26-3. 5%i¥fggljiﬁ$ (HO\ PO\ M(—)\ NZ\ ﬁﬂ%)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
2 -3 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
3 -4 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
4 -5 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
5 - 1 1
TOTAL 1 0 0 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0
2 -3 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
3 -4 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
4 -5 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
5 - 1 1
TOTAL 1 0 0 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 6 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 6 0 0 0 100.0 £ 0.0 (100.0 -100.0
2 -3 6 1 0 0 83.3 + 30.4 (113.8 - 52.9
3 -4 5 0 0 0 83.3 = 30.4 (113.8 - 52.9
4 -5 5 0 o] 0 83.3 £ 30.4 (13.8 - 52.9
5 - 5 5
TOTAL 6 1 0 5
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 61 2 0 0 96.7 + 4.6 (101.3 - 92.2
1 -2 59 2 3 0 93.4 £ 6.4 (99.8 - 86.9
2 -3 54 4 1 0 86.4 * 9.0 (95.3 - 77.4
3 -4 49 3 2 0 81.0 £+ 10.3 (91.3 - 70.6
4 -5 44 2 8 0 76.9 £ 11.3 (88.2 - 65.6
5 - 34 34
TOTAL 61 13 14 34
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
-1 184 13 3 0 92.9 £+ 3.8 (96.7 - 89.1
1 -2 168 13 1 0 85.7 £+ 5.2 (90.9 - 80.5
2 -3 154 9 1 0 80.6 + 5.9 (86.5 - 74.8
3 -4 144 14 5 o] 72.7 £ 6.7 (€ 79.3 - 66.0
4 -5 125 2 15 0 71.4 £+ 6.8 (78.2 - 64.7
5 - 108 108
TOTAL 184 51 25 108
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 72 10 1 0 86.0 £+ 8.2 (94.2 - 77.8
1 -2 61 7 0 0 76.1 £ 10.1 (¢ 86.2 - 66.0
2 -3 54 2 1 0 73.3 = 10.5 (83.8 - 62.8
3 -4 51 5 3 0 65.9 £ 11.3 (77.2 - 54.6
4 - 6 43 5 5 0 57.8 + 12.0 ( 69.8 - 45.7
s - 33 33
TOTAL 72 29 10 33
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26-4. FIEENEHFE (Hoo Pow M. Na, #H5)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 0 ] 0 0 0.0 0.0 ¢ 0.0- 0.0

1 -2 ] 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
M 2 -3 0 0 0 0 0.0 £+ 0.0 ¢ 0.0- 0.0

3 -4 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0

4 -5 0 0 0 0 0.0 £ 0.0 ¢ 0.0 - 0.0

5 - 0 0

TOTAL o} 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP [N ALIVE SURV. R+ 2SE 5% STD ERROR

0-1 0 0 0 0 0.0+ 0.0 C 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
SM 2 -3 0 0 0 0 000+ 0.0 ¢ 0.0 - 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
1-5 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
5 - 0 0
TOTAL 0 0 0 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
PM 3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
4-5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0
TOTAL 0 0 0 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 17 2 o 0 88.2 + 15.6 (103.9 - 72.6
1 -2 15 1 1 0 82.2 + 18.7 (100.8 - 63.5
2-3 13 1 o 0 75.8 + 21.1 ¢ 96.9 - 54.7
SS 3 -4 12 1 0 0 69.5 + 22.8 ( 92.3 - 46.7
4-5 11 0 0 0 69.5 + 22.8 ¢ 92.3 - 46.7
5 - 11 11
TOTAL 17 5 1 11
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 5% STD ERROR
0 -1 38 5 0 0 86.8 + 11.0 ¢ 97.8 - 75.9
1 -2 33 4 0 0 76.3 + 13.8 ( 90.1 - 62.5
2 -3 29 2 0 0 71.1 * 14.7 ( 85.8 - S6.3
S 3-4 27 1 2 0 68.3 + 15.1 ( 83.4 - 53.2
4-5 24 0 4 0 68.3 + 15.1 ( 83.4 - 53.2
5 - 20 20
TOTAL 3g 12 6 20
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 5% STD ERROR
0-1 34 6 0 0 82.4 + 13.1 ( 95.4 - 69.3
1 -2 28 4 2 0 70.2 + 15.8 ( 86.0 - 54.3
. 2 -3 22 5 1 0 53.8 + 17.6 ¢ 71.5 - 36,2
Si 3-4 16 3 0 0 43.7 + 17.8 ( 61.5 — 26.0
4-5 13 0 2 0 43.7 * 17.8 C 61.5 - 26.0
5 - 11 11
TOTAL 34 18 5 1
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265, REENELE (Ho. Po. Moy, Naw REHS)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 06.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 ] 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD"® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
2 -3 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
3 -4 1 0 0 0 100.0 £ 0.0 <100.0 -100.0
4 -5 1 0 0 0 100.0 £+ 0.0 (100.0 -100.0
5 - 1 1

TOTAL 1 0 0 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ »
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0o -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2 -3 o 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 5 0 0 0 0 0.0 0.0 ¢ 0,0- 0.0
5 0 0

TOTAL 0 0 0 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
o -1 3 1 0 0 66.7 + 54.4 (121.1 - 12.2
1 -2 2 0 0 0 66.7 £ 54.4 (121.1 - 12.2
2-3 2 1 0 0 33.3 + 54.4 (87.8 --21.1
3 -4 1 0 0 0 33.3 + 54.4 (87.8 --21.1
4 -5 1 0 0 0 33.3 + 54.4 (87.8 --21.1
5 - 1 1

TOTAL 3 2 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 15 6 0 0 60.0 =+ 25.3 (85.3 - 34.7
1 -2 9 5 1 0 24.7 = 22.8 (47.5 - 1.9
2 -3 3 1 0 0 16.5 * 20.3 ( 36.8 - -3.8
3 -4 2 1 1 0 5.5 £+ 14.4 (18.9 - -8.9
4 -5 0 0 0 ] 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 15 13 2 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 18 6 0 0 66.7 + 22,2 (88.9 - 44.4
1 -2 12 4 0 0 44.4 £ 23.4 (67.9 - 21.0
2-3 8 1 0 0 38.9 = 23.0 (61.8 - 15.9
3 -4 7 2 0 0 27.8 £ 21.1 ( 48.9 - 6.7
4 -5 5 1 0 0 22.2 + 19.6 (41.8 - 2.6
5 - 4 4

TOTAL 18 14 o] 4
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PO\ M(-’)\ NO\ Eﬂg)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5X STD ERROR
0 -1 53 2 1 0 96.2 + 5.3 (01.5 - 90.89
1 2 50 0 0 0 96.2 + 5.3 (101.5 - 90.9
2 -3 50 2 1 0 92.3 £ 7.4 (99.7 - 84.9
3 4 47 1 1 0 90.3 £ 8.2 (98.6 - 82,1
4 -5 45 2 2 0 86.2 + 9.7 (95.9 - 76.5
5 - 41 41

TOTAL 53 7 5 41

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 64 1 1 0 98.4 £+ 3.1 (101.6 - 95.3
1 -2 62 1 1 0 96.8 £+ 4.4 (101.2 - 92,4
2 -3 60 4 1 0 80.3 £ 7.5 (97.8 - 82.8
3 -4 55 1 1 0 88.7 =+ 8.1 (96.7 - 80.6
4 -5 53 0 1 0 88.7 £ 8.1 (96.7 - 80.6
5 - 52 52

TOTAL 64 7 5 52

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rx 2SE 6% STD ERROR
0 -1 168 9 1 0 94.6 £ 3.5 (88.1 - 91.1
1 -2 158 10 5 0 88.5 + 4.9 (93.5 - 83.6
2-3 143 7 2 0 84.2 £+ 6.7 (89.9 - 78,5
3 -4 134 6 4 0 80.4 =+ 6.2 (86.6 - 74.1
4 - § 124 4 13 0 77.6 £+ 6.6 (84.2 - 71.0
5 - 107 107

TOTAL 168 36 25 107
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0 -1 188 11 4 0 94.1 £ 3.5 (97.5 - 90.6
1 -2 173 12 1 0 87.5 + 4.9 (92.4 - 82,7
2 -3 160 13 1 0 80.4 + 6.9 (86.3 - 74.5
3 -4 146 12 6 0 73.7 + 6.5 (80.2 - 67.1
4 -5 128 7 8 0 69.5 £+ 6.9 (76.4 - 62.6
5 - 113 113

TOTAL 188 55 20 113
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 192 21 4 0 88.9 * 4.5 (93.5 - 84.4
1 -2 167 14 1 0 81.56 + 5.7 (87.1 - 75.8
2-3 152 16 5 0 72.7 £ 6.5 (¢ 79.3 - 66.2
3 -4 131 11 1 0 66.6 £+ 6.9 ( 73.6 - 59.7
4 -5 119 11 10 0 60.2 £ 7.3 (67.5 - 52,9
5 - 98 98

TOTAL 182 73 21 98
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 42 4 0 0 0.5 £+ 9.1 (99.5 - 81.4
1 -2 38 9 0 0 69.0 = 14,3 (83.3 - 54.8
2-3 29 5 1 0 66.9 + 16.3 ( 72.3 - 41.6
3 -4 23 4 1 0 46.8 = 15.6 ( 62,4 - 31.2
4 -6 18 1 2 0 44.1 + 15.6 (59.7 - 28.4
5 - 15 15

TOTAL 42 23 4 15
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26-7. ‘}%EE{EUE’E@$ (HO\ PO\ M(—)\ N1\ EB%)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 1 0 0 0 100.0 =+ 0.0 (100.0 -100.0
1 -2 1 0 0 0 100.0 + 0.0 (100.0 -100.0
2 -3 1 0 0 0 100.0 + 0.0 (100.0 -100.0
3 -4 1 0 0 0 100.0 =+ 0.0 <(100.0 -100.0
4 - 5 1 0 0 0 100.0 + 0.0 (100.0 -100.0
5 - 1 1

TOTAL 1 0 0 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 10 0 0 0 100.0 + 0.0 (100.0 -100.0
1 -2 10 0 0 0 100.0 =+ 0.0 (100.0 -100.0
2 -3 10 0 0 0 100.0 + 0.0 <(€100.0 -100.0
3 -4 10 0 0 0 100.0 £ 0.0 <(€100.0 -100.0
4 -5 10 0 0 o] 100.0 £ 0.0 (100.0 -100.0
5 - 10 10

TOTAL 10 0 ] 10
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 59 0 2 0 100.0 £ 0.0 (100.0 -100.0
1 -2 57 1 2 0 98.2 + 3.5 (101.8 - 94.7
2 -3 54 3 0 0 92.8 £+ 7.0 (99.7 - 85.8
3 -4 51 9 3 0 75.9 = 11.7 ( 87.6 - 64.2
4 -5 39 3 5 0 69.7 =+ 12.7 (82.4 - 56.9
5 - 31 31

TOTAL 59 16 12 31
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 156 9 2 0 94.2 + 3.8 (98.0 - 90.4
1 -2 145 19 1 0 81.8 + 6.2 (88.0 - 75.6
2 -3 125 14 2 0 72.6 £ 7.2 (79.8 - 65.4
3 -4 109 5 2 o] 69.2 + 7.5 (76.7 - 61.7
4 -5 102 7 7 0 64.3 £+ 7.8 (72.1 - 56.5
5 - 88 88

TOTAL 156 54 14 88
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2S5E 5% STD ERROR
0-1 266 16 3 0 94,0 + 2.9 (86.9 - 91.0
1 -2 247 35 1 0 80.6 + 4.9 (85.5 - 75.7
2 -3 211 29 3 0 69.56 + 5.7 (75.1 - 63.8
3 -4 179 16 2 0 63.2 + 6.0 (69.2 - 57.2
4 -5 161 11 13 0 568.7 + 6.1 (64.8 - 52.6
5 - 137 137

TOTAL 266 107 22 137
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0-1 56 9 0 0 83.9 + 9.8 (93.7 - 74.1
1 -2 47 16 0 0 65.4 = 13.3 (68.6 - 42.1
2 -3 31 9 1 0 39.0 + 13.1 (52,1 - 25.9
3 -4 21 5 0 0 29.7 =+ 12,3 (42,1 - 17.4
4 -5 16 2 3 0 25.6 + 11.9 (¢ 37.5 - 13.7
5 - 11 11

TOTAL 56 41 4 11
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0 - 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 £ 0.0 C 0.0 - 0.0
5 - 0 0

TOTAL ] 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 ] 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 22 1 0 0 95.5 + 8.9 (104.3 - 86.6
1 -2 21 1 0 0 90.9 + 12.3 (103.2 - 78.7
2 -3 20 2 0 0 81.8 £ 16.4 ( 98.3 - 65.4
3 -4 18 1 1 0 77.1 £ 18.0 (¢ 95.1 - 58,2
4 -5 16 1 1 0 72.2 + 19.4 (91.5 - 52.8
5 - 14 14

TOTAL 22 6 2 14

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 66 4 1 0 93.9 + 5.9 ( 99.8 - 88.0
1 -2 61 4 3 0 87.6 £+ 8.2 (95.8 - 79.4
2 -3 54 4 o} 0 8l1.1 + 9.8 (90.9 - 71.2
3 -4 50 4 2 0 74.5 £ 11.0 ( 85.5 - 63.4
4 -5 44 4 2 0 67.5 £ 12.0 ( 79.5 - 55.6
s - 38 38

TOTAL 66 20 8 38

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 185 15 2 0 91.8 + 4.0 ( 95.9 - 87.8
1 -2 168 22 6 0 79.6 £+ 6.0 ( 85.6 — 73.6
2 -3 140 18 0 0 69.4 + 6.9 (76.3 - 62.5
3 -4 122 15 4 0 60.7 + 7.3 ( 68.0 - 53.4
4 -5 103 11 4 0 54.1 + 7.5 (61.6 - 46.5
5 - 88 88

TOTAL 185 81 16 88

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+2SE 5% STD ERROR
0-1 62 8 0 0 87.1 + 8.5 (956 - 78.6
1 -2 54 21 1] 0 63.2 + 12.7 ( 65.9 - 40.6
2 -3 33 7 0 0 41.9 + 12.5 ( 54.5 - 29.4
3 -4 26 1 1 0 40.3 + 12.5 ( 52.8 - 27.8
4 -5 24 ] 1 0 40.3 * 12.5 ( 52.8 - 27.8
5 - 23 23

TOTAL 62 a7 2 23
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26-9. FEEMNEHFE (Ho.

Po. M-, Na_ E#B)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 - 6 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 o

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 1] 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2-3 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 C 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 1 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 2 2 0 0 0 100.0 £+ 0.0 (100.0 -100.0
2-3 2 1 0 0 §0.0 = 70.7 (120.7 --20.7
3 -4 1 0 1 0 60.0 £ 70.7 (120.7 --20.7
4 -5 0 [¢] 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 2 1 1 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 7 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 7 1 0 0 85.7 £ 26.5 (112.2 - 59.3
2 -3 6 1 0 [ 71.4 = 34.1 (105.6 - 37.3
3 -4 5 2 0 0 42.9 + 37.4 (80.3 - 5.4
4 -5 3 ] 0 0 42,9 + 37.4 (80.3 - 5.4
5 - 3 3

.

TOTAL 7 4 0 3

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 24 2 0 0 81.7 £ 11.3 (103.0 - BO. 4
1 -2 22 6 0 0 66.7 £ 19.2 (85.9 - 47.4
2 -3 16 1 0 0 62.5 = 19.8 (82.3 - 42,7
3 -4 15 1 1 0 68.2 + 20.2 (78.4 - 38.0
4 -5 13 3 0 0 44.8 + 20.6 (65.4 - 24.1
5 - 10 10

TOTAL 24 13 1 10
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 21 6 0 0 71.4 £ 19,7 (91.1 - 51.7
1 -2 15 2 0 0 61.9 + 21.2 (83.1 - 40.7
2 -3 13 1 0 0 67.1 = 21.6 ( 78.7 - 35.5
3 -4 12 0 1 0 67.1 = 21.6 ( 78.7 - 35.5
4 -5 11 0 0 0 7.1 = 21.6 ( 78.7 - 35.5
5 - 11 11

TOTAL 21 9 1 11
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26-10. FIFEEANEHFE (Ho.

Po. M-, Na_ E)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 £ 0.0 ¢ 0.0 0.0
2 -3 0 0 0 0 0.0 + 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 £ 0.0 ¢ 0.0 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 1 1 0 0 0.0 0.0 ¢ 0.0~ 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 ] 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 1 1 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, R+ 2SE 5% STD ERROR
0-1 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 2 1 0 0 §0.0 £ 70.7 (120.7 --20.7
1 -2 1 1 0 0 0.0 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 00 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 2 2 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 13 5 0 0 61.5 £ 27.0 ( 88.5 - 34.6
1 -2 8 6 0 0 156.4 £ 20.0 (35.4 - -4.6
2-3 2 1 0 0 7.7 £+ 14.8 (22,5 - -7.1
3 -4 1 0 0 0 7.7 £+ 14.8 (22,5 - -7.1
4 -5 1 0 0 0 7.7 £ 14.8 (22,5 - -7.1
5 - 1 1

TOTAL 13 12 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 12 4 ] 0 66.7 = 27.2 (93.9 - 39.5
1 -2 8 4 0 0 33.3 £ 27.2 (60.5 - 6.1
2 3 4 1 0 0 26.0 £ 25,0 (50.0 - 0.0
3 -4 3 0 0 0 25.0 £ 25.0 (50.0 - 0.0
4 -5 3 0 0 0 25.0 =+ 25.0 (50.0 - 0.0
5 - 3 3

TOTAL 12 9 0 3
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26-11. FIEEMNEHFE (How Pow Moy, no. #EEB)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 27 1 1 0 96.2 + 7.4 (103.6 - 88.8
1 -2 25 1 0 0 92.4 £ 10.4 (102.7 - 82.0
2 -3 24 1 0 0 88.5 + 12.5 (101.0 - 76.1
3 -4 23 0 1 0 88.5 = 12.5 (101.0 - 76.1
4 -5 22 1 3 0 84.2 + 14.5 (98.8 - 69.7
5 - 18 18
TOTAL 27 4 5 18
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 48 2 2 0 95.7 £ 5.9 «(101.6 - 89.9
1 -2 44 1 1 0 93.5 £+ 7.2 (100.8 - 86.3
2-3 42 3 2 0 86.7 £ 10.1 (96.8 - 76.6
3 -4 37 0 2 0 86.7 *+ 10.1 ( 96.8 - 76.6
4 -5 35 0 2 0 86.7 = 10.1 ( 96.8 - 76.6
5 - 33 33
TOTAL 48 6 9 33
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 64 1 1 0 98.4 £+ 3.1 (01.6 - 95.3
1 -2 62 1 1 0 96.8 =+ 4.4 (101.2 - 92.4
2-3 60 2 1 0 93.6 £+ 6.2 (99.8 - 87.3
3 -4 57 1 1 0 91.9 £+ 6.9 (98.9 - 85.0
4 -5 55 3 4 0 86.7 + 8.8 (95,6 - 77.9
5 - 48 48
TOTAL 64 8 8 48
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 192 5 3 0 97.4 £ 2.3 (99.7 - 95.1
1 -2 184 4 3 0 85.2 £ 3.1 (98,3 - 92,1
2 -3 177 10 2 0 89.8 + 4.4 (94.3 - 85.4
3 -4 165 7 7 0 85.9 £+ 6.1 (91.1 - 80.8
4 -5 151 5 14 0 83.0 £+ 5.6 (88.5 - 77.4
5 - 132 132
TOTAL 192 31 29 132
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 406 12 S 0 97.0 £ 1.7 (98.7 - 95.3
1 -2 389 29 3 0 89.8 + 3.0 (92.8 - 86.7
2 3 357 19 5 0 85.0 £+ 3.6 (88.5 - 81.4
3 -4 333 12 14 0 81.8 + 3.9 (857 -77.9
4 5 307 11 25 0 78.8 £ 4.1 (82,9 - 74.6
5 - 271 271
TOTAL 406 83 52 271
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 131 9 1 0 93.1 + 4.4 (97.5 - 88.7
1 -2 121 11 2 0 84.6 + 6.3 (90.9 - 78.2
2 -3 108 11 3 0 75.8 + 7.6 (83.4 - 68.3
3 -4 94 6 2 0 70.9 =+ 8.1 (C79.0 - 62.9
4 -5 86 6 9 0 65.7 £ 8.5 (74.2 - 57.2
s - 71 71
TOTAL 131 43 17 71
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26-12. RIEEREHFEE (How Pou Moy, ni #BB)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' s
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 2 0 [ 0 100.0 £+ 0.0 <(100.0 -100.0
1 -2 2 0 0 0 100.0 £+ 0.0 (100.0 -100.0
2 -3 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
3 4 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
4 -5 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
5 - 2 2

TOTAL 2 0 0 2

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD"' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 4 1 0 0 75.0 £ 43.3 (118.3 - 31.7
1 -2 3 [ 0 ] 75.0 = 43.3 (118.3 - 31.7
2 -3 3 0 0 0 75.0 = 43.3 (118.3 - 31.7
3 -4 3 0 0 0 75.0 + 43.3 (118.3 - 31.7
4 -5 3 0 0 0 75.0 + 43.3 (118.3 - 31.7
5 - 3 3

TOTAL 4 1 0 3

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 14 0 0 0 100.0 £ 0.0 <100.0 -100.0
1 -2 14 1 1 0 92.6 + 14.3 (106.8 - 78.3
2 -3 12 1 0 0 84.9 + 19.7 (104.6 - 65.2
3 -4 11 0 0 0 84.9 + 19.7 (104.6 - 65.2
4 - § 11 0 0 0 84.9 + 19.7 (104.6 - 65.2
5 - 11 11

TOTAL 14 2 1 11

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0-1 76 5 3 0 93.3 + 6.8 (99.1 - 87.5
1 -2 68 5 2 0 86.3 *+ 8.0 (94.4 - 78.3
2 -3 61 4 2 0 80.6 + 9.3 (89.9 - 71.2
3 -4 55 5 1 0 73.2 + 10.6 (83.7 - 62.6
4 -5 49 0 11 0 73.2 = 10.6 (83.7 - 62.6
5 - 38 38

TOTAL 76 19 19 38
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 155 17 1 0 89.0 £+ 5.0 (94.0 - 84.0
1 -2 137 22 1 0 74.7 £ 7.0 (81.7 - 67.6
2 -3 114 18 4 0 62.7 £ 7.8 (70.5 - 54.8
3 -4 92 5 1 0 69.2 + 8.0 (67.2 - 51.2
4 -5 86 4 6 0 56.4 + 8.1 (64.5 - 48.3
5 - 76 76

TOTAL 155 66 13 76
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 46 9 1 0 80.2 = 11.8 (92.0 - 68.4
1 -2 36 3 0 0 73.5 * 13.1 (86.6 - 60.4
2 -3 33 2 0 0 69.1 = 13.7 (82.8 - 55.3
3 -4 31 5 1 0 57.8 = 14.8 ( 72.5 - 43.0
4 -5 25 3 2 0 50.5 * 15.1 ( 65.6 - 35.4
5 - 20 20

TOTAL 46 22 4 20
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26-13. FERNEHFE (Ho,

Po. M), nz2, #5R5)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0 - 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
[ | 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 2 0 1 0 100.0 £ 0.0 (100.0 -100.0
2 -3 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
3 -4 1 0 0 o] 100.0 £ 0.0 (100.0 -100.0
4 -5 1 0 0 0 100.0 + 0.0 (100.0 -100.0
5 - 1 1

TOTAL 2 0 1 1
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0o-1 4 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 4 0 0 0 100.0 £+ 0.0 <(€100.0 -100.0
2 -3 4 0 1 0 100.0 £ 0.0 (100.0 -100.0
3 -4 3 0 1 0 100.0 £ 0.0 (100.0 -100.0
4 -5 2 0 0 0 100.0 £+ 0.0 (€100.0 -100.0
5 - 2 2

TOTAL 4 0 2 2
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 29 1 0 ] 96.6 + 6.8 (103.3 - 89.8
1 -2 28 2 1 0 89.5 = 11.4 (101.0 - 78.1
2-3 25 3 0 0 78.8 + 15.4 (94.2 - 63.4
3 -4 22 2 2 0 71.3 £ 17.2 (88.5 - 54.1
4 -5 18 1 2 0 67.1 £ 18.1 ( 85.2 - 49.0
5 - 15 15

TOTAL 29 9 S 15
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 79 9 1 0 88.5 + 7.2 (95.7 - 81.3
1 -2 69 4 0 0 83.4 + 8.4 (91.8 - 75.0
2-3 65 9 1 0 71.8 =+ 10.2 ( 82.0 - 61.6
3 -4 55 7 0 0 62.6 £ 11.0 ( 73.6 - 51.6
4 -5 48 2 5 0 6§9.9 + 11.2 < 71.1 - 48.7
5 - 41 41

TOTAL 79 31 7 41
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 30 4 0 0 86.7 =+ 12.4 (99.1 - 74.3
1 -2 26 4 1 0 73.1 £ 16,3 (89.4 - 56.8
2 -3 21 2 1 0 65.9 + 17.5 ( 83.5 - 48.4
3 -4 18 0 1 0 65.9 £ 17.5 (83.5 - 48.4
4 -5 17 3 1 0 64.0 = 19.0 ( 73.0 - 34.9
5 - 13 13

TOTAL 30 13 4 13
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26-14. REENEHFE (How Po. M. na. 8BB)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 0 0 0 [¢] 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0 0.0
2 -3 o 0 0 0 6.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 o] 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 £ 0.0 ¢ 0.0 - 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0,0
2 -3 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'* S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 25E 5% STD ERROR
0 -1 5 1 ] 0 80.0 + 35.8 (115.8 - 44,2
1 -2 4 0 0 0 80.0 + 35.8 (115.8 - 44.2
2 -3 4 2 0 o] 40.0 + 43.8 (83.8 - -3.8
3 -4 2 0 0 0 40.0 = 43.8 ( 83.8 - -3.8
4 -5 2 0 0 0 40.0 + 43.8 (83.8 - -3.8
5 - 2 2

TOTAL 5 3 0 2

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 1 23 6 0 0 73.9 £+ 18.3 (92.2 - 55.6
1 -2 17 6 0 0 47.8 £ 20.8 (68.7 - 27.0
2 -3 11 2 0 0 39.1 £ 20.4 (59.5 - 18.8
3 -4 9 1 0 0 34.8 + 19.9 ( 54.6 - 14.89
4 -5 8 0 2 0 34.8 £ 19.9 (54.6 - 14.8
5 - 6 6

TOTAL 23 15 2 6

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S

OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 11 7 0 0 36,4 + 29.0 (65.4 - 7.4
1 -2 4 1 0 0 27.3 £ 26.9 (54.1 - 0.4
2 -3 3 1 0 0 18.2 = 23.3 ( 41.4 - -5.1
3 -4 2 1 0 0 9.1 + 17.3 (26.4 - -8.2
4 -5 1 0 0 0 9.1 £ 17.3 ( 26.4 - -8.2
5 - 1 1

TOTAL 11 10 0 1
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26-15. EIEEMNEBTE (Ho. Po. M) na #EB)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 3 o] 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 4] 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 (o} 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 o] 0 0 0.0 0.0 C 0.0- 0.0
2 -3 0 0 0 o] 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 ]

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 3 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 3 ] 1 0 100.0 £ 0.0 (100.0 -100.0
2-3 2 1 0 0 50.0 = 70.7 (120.7 --20.7
3 -4 1 1 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 - 5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 3 2 1 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 15 6 0 0 60.0 £ 25.3 (85.3 - 34.7
1 -2 9 3 1] 0 40.0 £ 25.3 (65.3 - 14.7
2 -3 6 2 0 0 26.7 + 22.8 ( 49.5 - 3.8
3 -4 4 1 2 0 17.8 + 21.0 (38.8 -~ -3.3
4 -5 1 0 0 0 17.8 £ 21.0 (38.8 - -3.3
5 - 1 1

TOTAL 15 12 2 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 S 5 0 0 44.4 = 33.1 (CC77.6 - 11.3
1 -2 4 3 0 0 11.1 £ 21.0 (32,1 - -9.8
2 -3 1 0 0 0 11.1 £ 21.0 (32,1 - -9.8
3 -4 1 1 0 0 0.0 0.0 ¢ 0.0- 0.0
4 5 0 0 [ 0 0.0 £ 0.0 ¢ 0.0- 0.0
s - 0 0

TOTAL 9 9 0 0
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26-16. FIEERNEHFE (Ho.

PO\ M(—)\ No. Eﬂgj)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5X STD ERROR
0 -1 35 2 1 0 94.2 =+ 8.0 (102.2 - 86.2
1 -2 32 0 o] 0 94.2 + 8.0 (102.2 - 86.2
2 -3 32 0 0 0 94.2 =+ 8.0 (102.2 - 86.2
3 -4 32 0 1 0 94.2 =+ 8.0 (102.2 - 86.2
4 5 31 1 1 0 91.1 £+ 9.8 (100.9 - 81.3
5 - 29 29

TOTAL 35 3 3 29

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 58 1 1 0 88.3 =+ 3.4 (101.7 - 94.8
1 -2 56 0 1 0 98.3 + 3.4 (101.7 - 94.8
2 -3 55 3 1 0 92.9 + 6.9 (99.7 - 86.0
3 -4 51 0 1 0 82.9 + 6.9 (99.7 - 86.0
4 -5 50 0 1 0 92.9 + 6.9 (99.7 - 86.0
5 - 49 49

TOTAL 58 4 5 49

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 175 8 1 0 95.4 £+ 3.2 (98.6 - 92.2
1 -2 166 8 5 0 90.7 + 4.4 (95 2 - 86.3
2 -3 153 7 2 0 86.6 £ 5.2 (91.8 - 81.4
3 -4 144 7 5 0 82.3 + 5.9 (88.2 - 76.4
4 -5 132 4 16 0 79.6 + 6.3 (85.9 - 73.4
5 - 112 112

TOTAL 175 34 239 112

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 236 9 6 0 96.1 + 2.5 (98.7 - 93.6
1 -2 221 12 2 0 90.9 =+ 3.8 (94.7 - 87.1
2-3 207 16 2 0 83.8 + 4.9 (88.7 - 79.0
3 -4 189 10 4 0 79.4 + 5.4 (84.7 - 74.0
4 -5 175 8 11 0 75.6 £+ 5.7 (81.3 - 69.9
5 - 156 156

TOTAL 236 55 25 156
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 321 21 5 0 93.4 + 2.8 (96.2 - 90.6
1 -2 295 21 5 [0} 86.7 + 3.8 (90.5 - 82,9
2 -3 269 19 6 0 80.5 + 4.5 (850 - 76.0
3 -4 244 13 4 0 76.2 + 4.8 (81.0 - 71.3
4 -5 227 21 16 0 68.9 + 5.3 (74.2 - 63.6
5 - 190 190

TOTAL 321 95 36 190
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 85 10 0 0 88.2 + 7.0 (95.2 - 81.2
1 -2 75 14 0 0 71.8 + 9.8 (81.5 - 62.0
2 -3 61 9 2 0 61.0 * 10.6 ( 71.6 - 50.4
3 -4 50 7 1 0 62.4 + 10.9 (63.3 - 41.4
4 -5 42 2 2 0 49.8 + 11.0 ( 60.8 - 38.8
5 - 38 38

TOTAL 85 42 5 38
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26.17. REEINEBE (Hoo Po. Mo ni. EI)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

0-1 3 0 0 0 100.0 £ 0.0 <(00.0 -100.0
1 -2 3 0 0 0 100.0 £ 0.0 (100.0 -100.0
2 -3 3 0 1 0 100.0 £ 0.0 (100.0 -100.0
3 -4 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
4 -5 2 0 0 0 100.0 £ 0.0 (<100.0 -100.0
5 - 2 2

TOTAL 3 0 1 2
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 5 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 5 0 0 0 100.0 £ 0.0 (100.0 -100.0
2 -3 5 0 0 0 100.0 £+ 0.0 (<100.0 -100.0
3 -4 ) 0 ] 0 100.0 =+ 0.0 (100.0 -100.0
4 -5 5 0 0 0 100.0 £+ 0.0 (€100.0 -100.0
S - 5 s

TOTAL 5 0 0 s

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, Rt 2SE 5% STD ERROR
0 -1 42 1 2 0 97.6 £+ 4.8 (102.4 - 92.7
1 -2 39 2 0 0 92.6 £+ 8.3 (100.8 - 84.3
2 -3 37 2 0 0 87.6 + 10.4 (98,0 - 77.1
3 -4 35 5 1 0 74.9 = 13.8 (88.6 - 61.1
4 -5 29 2 3 0 69.4 + 14.8 ( 84.2 - 54.7
5 - 24 24

TOTAL 42 12 6 24

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 113 9 1 0 92.0 + 5.1 (97.1 - 86.9
1 -2 103 12 1 0 81.2 + 7.4 (88.6 - 73.8
2 -3 90 8 i 0 74.0 £+ 8.3 (82.3 - 65.6
3 -4 81 7 4 0 67.4 £ 8.9 ( 76.4 - 58.5
4 -5 70 6 4 0 61.5 £+ 9.4 (70.8 - 52.1
5 - 60 60

TOTAL 113 42 11 60
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 192 15 1 0 82.2 + 3.9 (96.1 - 88.3
1 -2 176 27 1 0 78.0 £+ 6.0 (84.0 - 72.0
2 3 148 23 2 0 65.8 £+ 6.9 (72.7 - 58.9
3 -4 123 11 1 0 §9.9 £ 7.1 (67.0 - 52.7
4 -5 111 5 10 0 67.1 £ 7.2 (64.3 - 49.8
5 - 96 96

TOTAL 192 81 15 96

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 49 7 0 0 856.7 £ 10.0 (¢ 95.7 - 75.7
1 -2 42 16 0 0 63.1 + 14.3 (67.3 ~ 38.8
2 -3 26 7 0 0 38.8 + 13.9 (52.7 - 24.9
3 -4 19 2 0 0 34.7 £ 13.6 ( 48.3 - 21.1
4 -5 17 1 2 c 32.5 £ 13.4 ( 45.9 - 19.1
5 - 14 14

TOTAL 49 33 2 14
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26-18. REREINEHFEE (Ho.

PO\ M(—)\ Na, EH%)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 0 0 ] 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 o] 0.0 0.0 ¢ 0.0- 0.0
2 -3 0 0 ] 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 3 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 3 0 0 0 100.0 £+ 0.0 <(100.0 -100.0
2 -3 3 ] 0 0 100.0 £+ 0.0 (100.0 -100.0
3 -4 3 0 0 0 100.0 £ 0.0 (<100.0 -100.0
4 -5 3 0 0 0 100.0 £ 0.0 (100.0 -100.0
5 - 3 3

TOTAL 3 0 0 3

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 22 1 0 0 95.5 + 8.9 (104.3 - 86.6
1 -2 21 2 1 0 86.1 + 14.9 (101.0 - 71,3
2 -3 18 2 0 0 76.6 = 18.4 ( 94.8 - 58.2
3 -4 16 3 1 0 61.8 + 21.3 (83.1 - 40.4
4 -5 12 1 1 0 56.4 + 22.0 (78.4 - 34.4
5 - 10 10

TOTAL 22 9 3 10

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 25E 5% STD ERROR
0 -1 51 2 0 0 96.1 = 5.4 (101.5 - 90.6
1 -2 49 8 2 0 80.1 = 11.3 ( 91.4 - 68.8
2 -3 39 7 0 0 65.7 £ 13.5 (€ 79.2 - 52.2
3 -4 32 3 1 0 69.4 + 14.0 <( 73.5 - 45.4
4 -5 28 4 1 0 50.8 + 14.4 (65.2 - 36.4
5 - 23 23

TOTAL 51 24 4 23

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 124 14 3 0 88.6 £+ 5.7 ( 94.3 - 82.8
1 -2 107 22 2 0 70.2 £+ 8,3 (785 - 61.9
2 -3 83 17 0 0 56.8 £ 9.1 (64.9 - 46.7
3 -4 66 16 3 0 42,0 + 9.1 (651.1 - 32.9
4 -5 47 8 1 0 34.7 + 8.8 (43.6 - 25.9
5 - 38 38

TOTAL 124 77 9 38
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 31 5 0 0o 83.9 = 13.2 (97.1 - 70.7
1 -2 26 15 0 0 35.6 =+ 17.2 (52,7 - 18,3
2 -3 11 4 0 0 22.6 + 15.0 (37.6 - 7.6
3 -4 7 1 1 0 19.1 + 14.2 (33.3 - 4.9
4 -5 5 1 0 0 15,3 =+ 13.3 (28.6 - 2.0
5 - 4 4

TOTAL 31 26 1 4

[ORVEVRVEV (VR VEVE v ~ v v (SRR

(SRR RV



sm

pm

a1

az

26-19. EIEERNEHFEE (Ho.

Po. M)\ nsa. Eﬂ%)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
2 3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 - 4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 6.0 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 2 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 2 0 1 0 100.0 £ 0.0 (100.0 -100.0
2-3 1 1 0 0 0.0 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
4 -5 0 ] 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 2 1 1 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 10 0 0 0 100.0 £+ 0.0 (100.0 -100.0
1 -2 10 2 [} 0 80.0 + 25.3 (105.3 - 54.7
2 -3 8 2 0 0 60.0 + 31.0 (91.0 - 29.0
3 -4 6 3 0 0 30.0 =+ 29.0 (59.0 - 1.0
4 -5 3 0 ] 0 30.0 £ 28.0 (58.0 - 1.0
5 - 3 3

TOTAL 10 7 0 3
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 23 3 0 0 87.0 * 14.0 (101.0 - 72.9
1 -2 20 8 0 0 62.2 + 20.8 ( 73.0 - 31.3
2-3 12 S 0 o] 30.4 + 18.2 (49.6 - 11.2
3 -4 7 2 0 0 21.7 £ 17.2 (38.9 - 4.5
4 -5 5 1 0 0 17.4 + 15,8 (33.2 - 1.6
5 - 4 4

TOTAL 23 18 0 4
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 10 3 0 0 70.0 £ 29.0 (99.0 - 41.0
1 -2 7 4 0 0 30.0 + 28.0 (58.0 - 1.0
2 -3 3 1 0 0 20.0 £ 25.3 ( 45.3 - -5.3
3 -4 2 0 ] 0 20.0 + 25.3 ( 45.3 - -5.3
4 -5 2 0 0 0 20.0 ¥ 25.3 ( 45.3 - -5.3
5 - 2 2

TOTAL 10 8 0 2
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26-20. FIEENEBEE (Ho.

pO\ M(—)\ Na. EH%)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 o] 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 6.0 0.0 ¢ 0.0- 0.0
2 3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 0 [ 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 1 1 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0 + 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0
5 - 0 0

TOTAL 1 1 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 0 0 ] 0 0.0+ 0.0 ¢ 0.0- 0.0
1 -2 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
4 -5 0 0 0 0 6.0+ 0.0 ¢ 0.0- 0.0
5 - o 0

TOTAL 0 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 4 2 0 0 50.0 + 50.0 (100.0 - 0.0
1 -2 2 2 0 0 0.0 0.0 ¢ 0.0- 0.0
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0
5 - 0 0

TOTAL 4 4 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD'’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 9 5 0 0 44.4 = 33.1 (€77.6 - 11.3
1 -2 4 2 0 0 22.2 £+ 27.7 ( 48.9 - -5.5
2 -3 2 1 0 0 11.1 £ 21.0 (32,1 - -9.8
3 -4 1 0 0 0 11.1 £ 21.0 (32,1 - -9.8
4 -5 1 0 0 0 11.1 = 21.0 (32.1 - -9.8
5 - 1 1

TOTAL 9 8 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 6 1 0 0 83.3 =+ 30.4 (113.8 - 52,9
1 -2 5 2 0 0 50.0 + 40.8 (¢ 90.8 - 9.2
2 -3 3 1 0 0 33.3 = 38.5 (71.8 - -5.2
3 -4 2 0 0 0 33.3 + 38,5 (71.8 - -5,2
4 -5 2 0 0 ] 33.3 £ 38.5 (71.8 - -5.2
S 2 2

TOTAL 6 4 0 2
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27-1. KIBBHESDHELSEICL 24£5E(ARM) ()

LOST TO WITHDRAWN

YEAR OF ALIVE AT DIED IN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 127 S 4 0 96.0 + 3.5 (99.5 - 92.5
1 -2 118 2 3 0 94.4 £ 4.1 (98.5 - 90.2
2-3 113 5 3 0 90.1 =+ 5.4 (95.5 - 84.7
3 -4 106 3 3 0 87.5 £+ 6.0 (93.6 — 81.5
4 -5 99 3 9 0 84.7 £ 6.6 (91.4 - 78,1
5 - 87 87

TOTAL 127 18 22 87
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING [INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 303 15 5 0 95.0 + 2.5 (87.5 - 92.5
1 -2 283 18 3 0 89.9 £+ 3.5 (93.4 - 86.5
2 3 265 25 6 0 81.4 + 4.5 (85.9 - 76.8
3 -4 234 5 11 0 79.6 =+ 4.7 (84.3 - 74.9
4 -5 218 4 20 o 78.1 £+ 4.9 (82,9 - 73.2
5 - 194 194

TOTAL 303 64 45 194
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV, R+ 2SE SX STD ERROR
0-1 544 36 7 0 93.3 £+ 2.1 (95.5 - 91,2
1 -2 501 48 6 0 84.3 £ 3.1 (87.5 - 81.2
2 -3 447 38 9 0 77.1 £ 3.6 (80.7 - 73.5
3 -4 400 22 9 0 72.8 £+ 3.9 (76.7 - 68.9
4 -5 369 24 26 0 67.9 + 4.1 (72,0 - 63.8
5 - 319 319

TOTAL 544 168 57 318

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 414 38 4 0 90.8 £+ 2.9 (93.6 - 87.89
1 -2 372 31 7 0 83.1 £ 3.7 (86.8 - 79.4
2 -3 334 24 4 0 77.1 £ 4.2 (81.3 - 73.0
3 -4 306 27 12 0 70.2 + 4.6 ( 74.8 - 65.6
4 -5 267 9 34 0 67.7 £+ 4.7 (72.4 - 63.0
5 - 224 224

TOTAL 414 129 61 224
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 380 182 7 0 61.7 + 5.2 (56.8 - 46.5
1 -2 191 79 6 0 30.0 £+ 4.8 ( 34.7 - 25.2
2 -3 106 35 1 0 20.0 £ 4.2 (24.2 - 15.8
3 -4 70 19 1 0 14,5 £ 3.7 (18.3 - 10.8
4 -5 50 8 3 0 12.1 £ 3.5 (15.6 - 8.7
5 - 39 39

TOTAL 380 323 18 39
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 272 12 3 0 95.6 £+ 2.5 (98.1 - 93.1
1 -2 257 11 6 0 91.4 £+ 3.4 (94.8 - 88.0
2 -3 240 11 4 0 87.2 + 4.1 (91.3 - 83.1
3 -4 225 7 S 0 84.5 &+ 4.5 (88.9 - 80.0
4 -5 213 5 17 0 82.4 + 4.7 (¢87.1 - 177.7
5 - 191 181

TOTAL 272 46 35 191
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 6% STD ERROR
0-1 389 32 7 0 91.7 + 2.8 (94.5 - 88.9
1 -2 350 26 2 0 84,9 + 3.7 (88.5 - 81.2
2 -3 322 32 6 0 76.4 =+ 4.4 (80.7 - 72.0
3 -4 284 24 7 0 69.8 =+ 4.7 (74.6 - 65.1
4 -5 253 19 18 0 64.4 £ 5.0 (69.4 - 59.4
5 - 216 216

TOTAL 389 133 40 216

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 588 38 7 0 93.6 £+ 2.0 (855 - 91.5
1 -2 543 79 4 0 79.8 + 3.3 (83.2 -176.5
2 -3 460 60 7 0 69.4 £+ 3.8 (73.2 - 65.5
3 -4 393 39 8 0 62.4 £+ 4.0 (66.4 - 68.3
4 -5 346 24 29 0 67.9 + 4.2 (62.0 - 53.7
5 - 283 293

TOTAL 588 240 55 293
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 25E 5% STD ERROR
0-1 383 35 3 0 80.8 £+ 3.0 (83.8 - 87.8
1 -2 345 57 8 o] 75.6 + 4.4 (80.1 - 71.2
2 -3 280 36 0 0 66.9 + 4.9 (70.8 - 61.0
3 -4 244 23 11 0 69.6 £+ 6.1 (64.7 - 54.5
4 -5 210 19 8 0 64.1 =+ 6.2 (59.3 - 48.9
5 - 183 183

TOTAL 383 170 30 183
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 280 135 6 0 61.3 £+ 6.0 (57.3 - 45.3
1 -2 139 75 2 o] 23.4 £ 5.1 (285 - 18.3
2 -3 62 23 1 0 14.7 £+ 4.3 (€19.0 - 10.3
3 -4 38 10 0 0 10.8 + 3.8 (14.6 - 7.0
4 -5 28 6 2 0 8.4 + 3.4 (11.8 - 5.0
5 - 20 20

TOTAL 280 249 11 20
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11

I

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R: 2SE 5% STD ERROR
0 -1 122 4 4 0 96,7 £ 3.3 (99.9 - 93.4
1 -2 114 2 2 0 95.0 £ 4.0 (99.0 - 90.8
2-3 110 5 3 o] 90.6 + 5.4 (96.0 - 85.2
3 -4 102 3 S 0 87.8 + 6.1 (93.9 - 81.8
4 -5 94 3 10 0 84.9 =+ 6.8 (91.7 - 78.1
5 - 81 81
TOTAL 122 17 24 81
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 334 17 5 0 94.9 £ 2.4 (87.3 - 92.4
1 -2 312 19 S 0 89.0 £+ 3.4 (92,5 - 85.6
2 -3 288 27 7 0 80.6 + 4.4 (85.0 - 76.2
3 -4 254 5 11 0 79.0 £+ 4.5 (83.5 - 74.4
4 -6 238 5 20 0 77.2 £ 4.7 (81.9 - 72,5
5 - 213 213
TOTAL 334 73 48 213
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0-1 570 38 8 0 93.3 £+ 2.1 (95,4 - 91.2
1 -2 524 46 6 0 85,0 £+ 3.0 (88.1 - 82.0
2 -3 472 39 10 0 77.9 £ 3.5 (8l.5 - 74.4
3 -4 423 26 9 0 73.1 + 3.8 (76.9 - 69.3
4 -5 388 24 30 0 68.4 + 4.0 (72.4 - 64.4
5 - 334 334
TOTAL 570 173 63 334
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
-1 431 35 4 0 91.8 £ 2.6 (84.5 - 89.2
1 -2 392 32 8 0 84.3 £ 3.5 (87.8 - 80.7
2-3 352 25 5 0 78.2 £+ 4.0 (82.3 - 74.2
3 -4 322 26 12 0 71.8 £ 4.4 (76.2 - 67.4
4 -5 284 9 37 0 69.4 £+ 4.5 ( 73.9 - 64.8
5 - 238 238
TOTAL 431 127 66 238
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR
0 -1 390 181 9 0 63.0 £+ 5.1 (568.1 - 48.0
1 -2 200 82 7 0 30.9 + 4.8 (35.7 - 26.1
2 -3 111 38 1 0 20.3 + 4.2 (24.5 - 16.1
3 4 72 20 1 0 14,6 £+ 3.7 (18.3 - 10.9
4 -5 51 8 3 0 12,2 £+ 3.5 (15.7 - 8.8
6 - 40 40
TOTAL 390 329 21 40
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 301 13 3 0 85.7 £ 2.4 (98.0 - 93.3

1 -2 285 12 6 0 91.6 £+ 3.2 (94,8 - 88.4
1 2 -3 267 16 4 0 86.1 + 4.0 (90.1 - 82.0

3 -4 247 7 7 0 83.6 + 4.3 (87.9 - 79.2

4 -5 233 6 16 0 8l1.4 + 4.6 (859 - 76.8

5 - 211 211

TOTAL 301 54 36 211

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0-1 383 3s 7 0 90.8 + 3.0 ( 93.7 - 87.8
1 -2 341 25 2 0 84.1 + 3.8 (87.9 - 80.3
I 2 -3 314 29 8 0 76.2 + 4.4 ( 80.6 - 71.8
3 -1 277 25 6 0 69.3 £+ 4.8 C 74.1 - 64.5
1-5 246 21 21 0 63.1 + 5.1 (682 - 58.0
5 - 204 204
TOTAL 383 135 44 204
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.Rt2SE 5% STD ERROR
0 -1 598 40 7 0 93.3 £ 2.1 ( 95.3 - 91.2
1 -2 551 81 5 0 79.5 + 3.3 ( 82.8 - 76.2
m 2 -3 465 60 6 0 69.2 + 3.8 ¢ 73.0 - 65.4
3 -1 399 41 9 0 62.0 + 4.0 ¢ 66,0 - 580
4-5 349 26 29 0 57.2 £ 4.1 ( 61.3 - 63.0
5 - 294 294
TOTAL 598 248 56 294
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 393 36 3 0 90.8 + 2.9 (93.7 - 87.9
1 -2 354 56 8 0 76.3 £+ 4.3 ¢ 80.6 - 72.0
v 2 -3 290 a7 0 0 66.5 + 4.8 ( 71.4 — 61.7
3-4 253 23 12 0 60.3 £ 5.0 ¢ 654 - S5.3
4-5 218 Is ) 0 55.0 + 5.1 ( 60.1 - 49.8
5 - 190 180
TOTAL 393 171 32 190
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R£2SE 5% STD ERROR
0 -1 269 122 5 0 54.2 £ 6.1 ¢ 60.3 - 48. 1
1 -2 142 77 2 0 24.6 + 53 (29,9 - 19.3
2 -3 63 23 2 0 15,5 £ 4.5 ¢ 20.0 - 11.0
V' 3-a 38 11 0 0 1.0+ 3.9 (14.9 - 7.1
4-5 27 6 2 0 8.5 £ 3.5 (12.0 - 4.9
5 - 19 19
TOTAL 269 239 11 19
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Dukes A

Dukes B

Dukes C

28—1
Dukes « #5l%

3L
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28-1. Dukes S 3ERIETFE (. HBHFYEEYIR)

i

SURVIVAL RATE
2P=0.01 «P=0.05

Dukes A:n= 189 o———o

689 e---

-

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR
0 -1 189 3 5 0 98.4 =+ 1.8 (100.2 - 96.5
1 -2 181 3 1 0 96.8 + 2.6 (99.4 - 94.2
2 -3 177 6 3 0 93.4 £ 3.7 (97.1 - 89.8
3 -4 168 2 9 0 92.3 £ 4.0 (96.3 - 88.4
4 -5 1587 s 16 0 89.2 =+ 4.7 (93.9 - 84.5
5 - 136 136

TOTAL 189 19 34 136

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 689 25 7 0 96.4 +* 1.4 (97.8 - 94.9
1 2 657 39 10 0 80.6 £ 2.2 (92.8 - 88.4
2 -3 608 38 12 0 84.9 £ 2.8 (87.6 - 82.1
3 -4 558 24 18 0 8l.2 £ 3.0 (84.2 - 78.1
4 -5 516 20 43 0 77.9 = 3.2 (8l.1 - 74.6
5 - 453 453

TOTAL 689 146 S0 453

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 456 40 7 0 81.2 + 2.7 (93.8 - 88.5
1 -2 409 46 5 0 80.8 + 3.7 (84,6 - 77.1
2 -3 358 40 10 0 71.7 £ 4.3 (76.0 - 67.4
3 -4 308 22 8 0 66.5 £ 4.5 (71.0 - 62.0
4 -5 278 12 31 0 63.5 £+ 4.6 (68,1 - 58.8
5 - 235 235

TOTAL 456 160 61 235
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 2 0 0 0 100.0 £ 0.0 (¢100.0 -100.0
1 -2 2 0 0 0 100.0 £ 0.0 <100.0 -100. 0
2 -3 2 0 0 0 100.0 £ 0.0 <100.0 -100.0
Dukes A 3 -4 2 0 0 0 100.0 £ 0.0 <¢100.0 -100. 0
4-5 2 0 0 0 100.0 £ 0.0 <100.G -100.0
5 - 2 2
TOTAL 2 0 0 2
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 32 4 0 0 87.5 + 11.7 ( 99.2 - 75.8
1 -2 28 3 0 0 78.1 + 14.6 ¢ 92.7 - 63.5
2 -3 25 4 0 0 65.6 = 16.8 ( 82.4 - 48.8
Dukes B 3 -4 21 2 1 0 59.2 + 17.4 ¢ 76.6 - 41.8
4-5 18 1 3 0 55.6 + 17.8 ¢ 73.4 - 37.8
5 - 14 14
TOTAL 32 14 4 14
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0 -1 86 30 0 0 65.1 + 10.3 ¢ 75.4 - 54.8
1 -2 56 11 4 0 51.9 + 10.9 ¢ 62.7 - 41.0
2-3 41 10 0 0 39.2 + 10.8 ( 50.0 - 28.4
Dukes C 3 -4 31 10 2 0 26.1 + 9.8 (36.0 - 16.3
4-5 19 2 2 0 23.2 + 9.6 ¢ 32.8 - 13.7
5 - 15 15
TOTAL 86 63 8 15
—_— SURVIVAL RATE Dukes A:n=
28 2 %¥P=0.01 »P=0. 06 gnkes Bin=
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YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE  GREENWOOD’S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 369 16 6 0 95.6 + 2.1 (¢ 97.8 - 93.5
1 -2 347 8 10 o 93.4 + 2.6 ( 96.0 - 90.8
Dukes A 2 -3 329 19 5 0 88.0 £+ 3.4 (91.4 - 84.5
uKes 3 -4 305 8 10 0 85.6 + 3.7 (89.3 - 81.9
4-5 287 12 21 o 81.9 + 4.1 (86.0 - 77.8
5 - 254 254
TOTAL 369 63 52 254
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE  GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 535 33 8 o 93.8 + 2.1 (958 - 91.7
1 -2 494 39 4 0 86.4 + 3.0 ( 89.3 - 83.4
2 -3 451 34 9 I 79.8 £+ 3.5 (833 - 76.3
Dukes B 3 -4 408 26 10 o 74.6 £+ 3.8 ( 78.5 - 70.8
4-5 372 25 27 I 69.4 + 4.1 ( 73.5 - 65.3
5 - 320 320
TOTAL 535 157 58 320
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE  GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 607 42 5 0 93.1 £ 2.1 (951 - 91.0
1 -2 560 92 6 0 77.7 * 3.4 (81.1 - 74.3
2 -3 462 67 4 0 66.4 + 3.9 (70.2 - 62.5
Dukes C 3 -4 391 50 12 0 57.7 £ 4.1 (¢ 61.8 - §3.7
4-5 329 27 22 0 52.8 + 4.1 ( 57.0 - 48.7
5 - 280 280
TOTAL 607 278 49 280
28—3 SURVIVAL RATE Dukes A:n= 369 oo
WP=0,01 wP=0,05 Dukes Bin= 535 F}
Dukes + it pikes Genm B0T e
Sy
(n{@
T Z T X B YEARS
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28-4. Dukes 2 ¥ABIEBE (BB, HBE2A0IELETR)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD'S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
1 -2 1 0 o 0 100.0 £ 0.0 (100.0 -100.0
2 - 3 1 0 0 0 100.0 £ 0.0 (100.0 -100.0
Dukes A 3 -4 1 0 0 0 100.0 £ 0.0 (100.0 -100, 0
4-5 1 0 0 0 100.0 + 0.0 <100.0 -100.0
5 - 1 1
TOTAL 1 0 0 1
Dukes B
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 32 6 0 0 81.3 + 13.8 ( 95.0 - 67.5
1-2 26 5 0 0 65.6 + 16.8 ( 82.4 - 48.8
2 -3 21 4 o 0 53.1 + 17.6 ¢ 70.8 - 85.5
Dukes B 3 -4 17 4 0 0 40.6 + 17.4 ( 58.0 - 23.3
4-5 13 1 1 0 37.4 + 17.1 < 54.5 - 20.2
5 - 11 11
TOTAL 32 20 1 11
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN  CUMULATIVE  GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE  SURV.R+2SE 5% STD ERROR
0-1 115 31 2 0 72.8 + 8.3 (8.1 - 64.5
1 -2 82 35 1 0 41.5 + 9.3 (50.8 - 32.2
2 -3 46 14 0 0 28.9 + 8.6 ¢ 37.5 - 20.3
Dukes C 3-4 a2 5 1 0 24.3 + 8.1 (32.4 - 16.2
4-5 26 5 1 0 19.5 £+ 7.6 € 27.1 - 12.0
5 - 20 20
TOTAL 115 90 5 20
_— SURVIVAL RATE Dukes A:n=
28 4 Dukes B:in= -
. . in= 115
Dl.lkeS . [ﬁn’% " Dukes Cin o
BIEbTat s 100 T

50
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29-1. Astler-Coller38Ic & 24 HBE (HBB. HAHEN

B1

C2

FARIRR)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 91 2 4 0 g7.8 + 3.1 (100.9 - 94.6
1 -2 85 2 1 0 95.4 + 4.5 (99.9 - 91.0
2 -3 82 4 1 0 90.8 + 6.2 (97.0 - 84.5
3 -4 7 0 3 0 90.8 + 6.2 (97.0 - 84.5
4 -5 74 1 7 0 89.5 + 6.7 (96.1 - 82.8
5 - 66 66

TOTAL 91 9 16 66

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 98 1 1 0 98.0 £ 2.0 (101.0 - 96.9
1 -2 96 1 0 0 97.9 £ 2.9 (100.8 - 85.1
2 -3 95 2 2 0 95.9 + 4.1 (99.9 - 91.8
3 -4 91 2 6 0 93.7 £+ 5.0 (98.7 - 88.7
4 -5 83 4 9 0 88.9 + 6.6 (95.5 - 82.3
5 - 70 70

TOTAL 98 10 18 70
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 689 25 7 0 96.4 + 1.4 (97.8 - 94.9
1 -2 657 39 10 0 90.6 £ 2.2 (82,8 - 88.4
2 -3 608 38 12 0 84.9 £ 2.8 (87.6 - 82.1
3 -4 558 24 18 0 81.2 £ 3.0 (84.2 - 78.1
4 -5 516 20 43 0 77.9 £+ 3.2 (8l.1 - 74.6
5 - 453 453

TOTAL 689 146 S0 453
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 36 3 1 0 91.5 + 9.3 (100.9 - 82.2
1 -2 32 1 1 0 88.6 £ 10.7 (99.3 - 77.9
2 -3 30 1 1 0 85.6 =+ 11.9 ( 97.5 - 73.7
3 -4 28 2 2 0 79.3 + 14.0 (83.3 - 65.3
4 -5 24 ] 3 0 79.3 + 14.0 (¢ 93.3 - 65.83
5 - 21 21

TOTAL 36 7 8 21
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP [IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 1 420 37 6 0 91.1 + 2.8 (983.9 - 88.3
1 2 377 45 4 0 80.2 + 3.9 (84.1 - 76.3
2 -3 328 39 9 0 70.5 + 4.5 (75.0 - 66.0
3 -4 280 20 6 0 65.4 + 4.7 (€70.2 - 60.7
4 -5 254 12 28 0 62.2 £+ 4.8 (67.0 - 57.3
5 - 214 214

TOTAL 420 163 53 214
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29-2. Astler-Coller34EIZ & 24 7GE (B, BE¥IERKTYIR)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0)

1 -2 0 0 0 0 0.0 £ 0.0 ¢ 0.0- 0.0
A 2 -3 0 0 0 0 0,0 0.0 ¢ 0.0- 0.0

3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0

4 -5 0 o] 0 0 0.0 0.0 ¢ 0.0- 0.0)

5 - 0 0

TOTAL 0 0 4] 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 2 o 0 0 100.0 £ 0.0 (100.0 -100.0)
1 -2 2 0 0 0 100.0 =+ 0.0 (100.0 -100.0 )
B 2-3 2 0 0 o] 100.0 £ 0.0 (100.0 -100.0)
1 3 -4 2 0 0 0 100.0 =+ 0.0 (<100.0 -100.0)
4 5 2 o] 0 0 100.0 =+ 0.0 (100.0 -100.0 )
5 - 2 2
TOTAL 2 0 0 2
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD* S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 32 4 0 0 87.5 £ 11.7 (989.2 - 75.8)
1 -2 28 3 0 0 78.1 = 14.6 (92.7 - 63.5)
2-3 25 4 0 0 656.6 = 16.8 ( 82.4 - 48.8)
B2 3 -4 21 2 1 0 69.2 + 17.4 (76.6 - 41.8)
4 -5 18 1 3 0 566.6 + 17.8 ( 73.4 - 37.8)
5 - 14 14
TOTAL 32 14 4 14
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP 1IN ALIVE SURV. R+ 2SE 5% STD ERROR
0-1 1 0 0 0 100.0 £ 0.0 <100.0 -100.0)
1 -2 1 0 1 0 100.0 £ 0.0 (100.0 -100.0)
2 -3 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0
Cl 3 -4 0 0 0 0 0.0+ 0.0 ¢ 0.0 - 0.0)
4 -5 0 0 0 0 0.0+ 0.0 ¢ 0.0- 0.0)
5 - 0 0
TOTAL 1 0 1 0
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR
0 -1 85 30 0 0 64.7 = 10.4 ( 75.1 - 54.3)
1 -2 55 11 3 0 51.4 * 10.9 ( 62.3 - 40.5)
2 -3 41 10 0 0 38.9 = 10.7 ( 49.6 - 28.1)
C2 3 -4 31 10 2 0 25,9 £+ 9.8 (357 - 16.1)
4 -5 19 2 2 0 23.0 £+ 9.5 (32.6 - 13.5)
5 - 15 15
TOTAL 85 63 7 15
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29-3. Astler-Coller B $EIC & 2 &7 (BB, MBS EELE)

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0-1 114 3 2 0 97.3 + 3.0 (100.4 - 94.3
1 -2 109 1 2 0 96.4 + 3.5 (99.9 - 93,0
A 2 -3 106 5 3 0 91.8 + 5.2 (97.1 - 86.6
3 -4 98 1 4 0 90.9 + 5.5 ( 96.4 - 85.4
4-5 93 2 5 0 88.9 + 6.1 (94,9 - 82.8
5 86 86
TOTAL 114 12 16 86
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 255 13 4 0 94,9 + 2.8 (97.6 - 92,1
1 -2 238 7 8 0 92.0 + 3.4 (954 - 88.6
B 2 -3 223 14 2 0 86.2 + 4.4 (90.6 - 81.8
1 3 -4 207 7 6 0 83.3 + 4.8 ( 88.0 - 78.5
4-5 194 10 16 0 78.8 + 5.3 ( 84.1 - 73.5
5 - 168 168
TOTAL 255 51 36 168
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 §35 33 8 0 93.8 + 2.1 (959 - 91.7
1 -2 494 39 4 0 86.4 + 3.0 ( 89.3 - 83.4
B 2 -3 451 34 9 ) 79.8 + 3.5 (83.3 - 76.3
2 3 -4 408 26 10 0 74.6 + 3.8 ( 78.5 - 70.8
4 -5 372 25 27 0 69.4 £+ 4.1 ( 73.5 - 65.3
5 - 320 320
TOTAL 535 157 58 320
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0-1 87 3 2 0 96.9 £ 3.6 (100.4 - 93.3
1 -2 92 10 0 0 86.3 £ 7.0 ( 93.4 - 79.3
C 2 -3 82 4 0 0 82.1 + 7.9 (90.0 - 74.3
1 3 -4 78 4 3 0 77.8 + 8.5 ( 86.4 - 69.3
4-5 71 1 4 0 76.7 + 8.7 (854 - 68.0
5 - 66 66
TOTAL 97 22 9 66
YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV.R+2SE 5% STD ERROR
0 -1 510 39 3 0 92.3 £ 2.4 (94.7 - 90.0
1 -2 468 82 6 0 76.0 + 3.8 ( 79.8 - 72.2
C 2-3 380 63 4 0 63.4 + 4.3 (867.7 - 59.1
2 3 -4 313 46 ] 0 53.9 + 4.5 ( 58.4 - 49.5
4 -5 258 26 18 0 48.3 + 4.5 ( 52.8 - 43.8
5 - 214 214
TOTAL 510 256 40 214
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29-4. Astler-Coller 3 #8I- & 2 &£ 7FE (BB, B3 0IERETRR)

.

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 0 0 0 0 0.0 £ 060 ¢ 0.0- 0.0)

1 -2 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0)
A 2 -3 0 0 0 0 0.0 £ 0.0 ¢ 0.0 - 0.0

3 -4 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0)

4 -5 0 0 0 0 0.0 0.0 ¢ 0.0- 0.0)

5 - 0 0

TOTAL ] 0 0 0

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 5% STD ERROR

0 -1 1 0 0 ] 100.0 £ 0.0 (100.0 -100.0 )

1 2 1 0 0 0 100.0 £ 0.0 (100.0 -100.0 >
B1 2 -3 1 0 0 0 100.0 = 0.0 (100.0 -100.0)

3 4 1 0 0 0 100.0 £ 0.0 (100.0 -100.0)

4 -5 1 0 0 0 100.0 £ 0.0 (100.0 -100.0 )

5 - 1 1

TOTAL 1 0 0 1

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD"® S
OBSERVAT BEGINNING INTERVAL FOLLW-UP [IN ALIVE SURV. R+ 2SE 56X STD ERROR

0o-1 32 6 0 0 81.3 £+ 13.8 ( 95.0 - 67.5)

1 -2 26 5 0 0 65.6 + 16.8 ( 82.4 - 48.8)
B2 2 -3 21 4 0 0 63.1 = 17.6 ( 70.8 - 35.5)

3 -4 17 4 0 0 40.6 = 17.4 (58.0 - 23.3)

4 -5 13 1 1 0 37.4 £ 17.1 (54.5 - 20.2)

5 - 11 11

TOTAL 32 20 1 11

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD' S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. Rt 2SE 5% STD ERROR

0-1 10 0 0 0 100.0 £+ 0.0 <100.0 -100.0)
1 -2 10 3 1 0 68.4 = 30.2 (98.6 - 38.3)
C 2 -3 6 0 0 0 68.4 + 30.2 (98.6 - 38.3)
1 3 -4 6 1 0 0 67.0 £ 32.6 (89.7 - 24.4)
4 -5 5 1 0 0 45.6 £ 33.1 (78.7 - 12.5)

S - 4 4

TOTAL 10 S 1 4

YEAR OF ALIVE AT DIED IN LOST TO WITHDRAWN CUMULATIVE GREENWOOD’ S
OBSERVAT BEGINNING INTERVAL FOLLW-UP IN ALIVE SURV. R+ 2SE 6% STD ERROR

0 -1 105 31 2 0 70.2 £ 9.0 (79.2 - 61.2)
1 -2 72 32 0 0 39.0 £+ 9.6 ( 48.6 - 29.4)
C 2 -3 40 14 0 0 25.3 + 8.6 (33.9 - 16.8)
2 3 -4 26 4 1 0 21.4 £ 8.1 (29.5 - 13.3)
4 - 5 21 4 1 0 172 £ 7.5 (24.7 - 9.7)

5 - 16 16

TOTAL 105 85 4 16
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